
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

RANCILIO
T1>

Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

3
-1

0
1

7
0

3
5
9

Espresso machines



LEVER GROUP Z9-Z11-S10

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1242651 i>LEVER GROUP COMPLETE HANDLE

2 <i1241513 i>BLIND HEXAGONAL NUT M8 UNI 5721

3 <i1186504 i>STAINLESS STEEL WASHER ø 29x10.6x2 mm

4 <i1241822 i>LEVER GROUP HANDLE

6 <i1242652 i>CHROMIUM-PLATED FORK FOR LEVER GROUP

7 <i1063911 i>BEARING 6202 2Z

8 <i1242654 i>STAINLESS STEEL CIRCLIP A-15 UNI 7435

11 <i1184820 i>S/ STEEL SCREW M6x25 UNI 5739 DIN 24017

14 <i1250023 i>STAINLESS STEEL CIRCLIP RA-5 UNI 7437

18 <i1250803 i>STAINLESS STEEL WASHER FOR LEVER

21 <i1250802 i>INFUSION CONTROL LEVER

22 <i1250801 i>LEVER GROUP SPRING

23 <i1184824 i>LEVER PIN ø 6x31 mm

24 <i1184823 i>ARTICULATION BUSHING

25 <i1186817 i>LIP SEAL ø 51x38x7.5 mm

27 <i1186816 i>LIP SEAL ø 50x38x7.5 mm

28 <i1081003 i>SHOWER SCREEN ø 57.5 mm

29 <i1186812 i>FILTER HOLDER GASKET ø 72x57x8 mm

31 <i1186612 i>O-RING 02025 VITON

36 <i1528026 i>SCREW M8x1 mm UNI 5931

37 <i1184804 i>STAINLESS STEEL SCREW M6x8

38 <i1186811 i>COPPER FLAT GASKET ø 10x6x1 mm

39 <i1186823 i>COPPER FLAT GASKET ø 27x21.5x1 mm

40 <i1186822 i>VITON FLAT GASKET ø 13x4x4 mm

41 <i1250819 i>VALVE SPRING ø 16x30 mm

43 <i1186619 i>COPPER FLAT GASKET ø 18x14x1.5 mm

44 <i1523675 i>PIN FOR NON RETURN VALVE

45 <i1523674 i>NON-RETURN VALVE SPRING ø 6x28 mm

46 <i1439810 i>CAP FOR BREW GROUP

47 <i1160530 i>1 CUP FILTER 7 gr

48 <i1160529 i>2-CUP FILTER 14 GRAMS

49 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

50 <i1165046 i>FILTER HOLDER RANCILIO

51 <i1241511 i>FILTER HOLDER HANDLE

52 <i1022501 i>SINGLE SPOUT ø 3/8"

53 <i1022502 i>DOUBLE SPOUT ø 3/8"

54 <i1160559 i>CHROME PLATED SCREW FOR SPOUT

55 <i1190005 i>PAPER SEAL ø 70x57x0.5 mm

56 <i1190003 i>RUBBER THICKNESS ø 70x57x1 mm EPDM

57 <i1160251 i>1 CUP FILTER 6 g

58 <i1160252 i>2-CUP FILTER 12 GRAMS

59 <i1160339 i>BLIND FILTER

62 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

63 <i1160345 i>2 CUPS FILTER 18 gr

<T1

RANCILIO
T1>



GROUP Z11-S10

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1184006 i>S/S SCREW T.C.C.E.I. M4x12 UNI 7984

2 <i1186611 i>O-RING 02025 RED SILICONE

2 <i1186612 i>O-RING 02025 VITON

3 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

3 <i1120335 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

4 <i1120334 i>3-WAY MECHANICAL COMPONENT LUCIFER

4 <i1120339 i>3-WAY MECHANICAL COMPONENT PARKER

5 <i1120332 i>COIL LUCIFER/PARKER 220/240V 9W 50Hz

5 <i3120032 i>COIL PARKER ZB09 9W 220/240V 50/60Hz

6 <i1349037 i>DRAIN PIPE

7 <i1528026 i>SCREW M8x1 mm UNI 5931

8 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

10 <i1186811 i>COPPER FLAT GASKET ø 10x6x1 mm

11 <i1184804 i>STAINLESS STEEL SCREW M6x8

12 <i1190001 i>PAPER SEAL ø 73x59x0.8 mm

13 <i1186812 i>FILTER HOLDER GASKET ø 72x57x8 mm

14 <i1349803 i>BREW GROUP SPRAY NOZZLE ø 21 mm

15 <i1081036 i>SHOWER ø 57.5 mm

16 <i1528516 i>CUT HEAD SCREW M5x12 UNI 6107

17 <i1160339 i>BLIND FILTER

18 <i1160251 i>1 CUP FILTER 6 g

18 <i1160530 i>1 CUP FILTER 7 gr

19 <i1160252 i>2-CUP FILTER 12 GRAMS

19 <i1160345 i>2 CUPS FILTER 18 gr

19 <i1160529 i>2-CUP FILTER 14 GRAMS

20 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

21 <i1165046 i>FILTER HOLDER RANCILIO

22 <i1241510 i>FILTER HOLDER HANDLE

22 <i1241511 i>FILTER HOLDER HANDLE

23 <i1186504 i>STAINLESS STEEL WASHER ø 29x10.6x2 mm

24 <i1241513 i>BLIND HEXAGONAL NUT M8 UNI 5721

25 <i1022501 i>SINGLE SPOUT ø 3/8"

25 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

26 <i1022502 i>DOUBLE SPOUT ø 3/8"

29 <i1186839 i>GASKETS KIT FOR COFFEE GRUOP

30 <i1324801 i>SPINDLE FOR CONTROL ROD

31 <i1250818 i>DRAIN ROD SPRING ø 7x35 mm

32 <i1523659 i>INFUSION SPRING GUIDE BUSHING

33 <i1186828 i>COPPER FLAT GASKET ø 30x26x1 mm

34 <i1523656 i>DRAIN PIPE FITTING

36 <i1186822 i>VITON FLAT GASKET ø 13x4x4 mm

37 <i1523661 i>OUTLET GASKET HOLDER BUSHING

38 <i1523662 i>OUTLET SPRING GUIDE BUSHING

39 <i1250819 i>VALVE SPRING ø 16x30 mm

42 <i1349802 i>DRAIN PIPE FITTING

43 <i1160801 i>WATER FILTER M8x1

44 <i1501811 i>NOZZLE M8x1 HOLE ø 0,5 mm

47 <i1250817 i>VALVE SPRING ø 17x39 mm

49 <i1250816 i>CAP SPRING ø 12x22 mm

50 <i1186809 i>FLAT TEFLON GASKET ø 12x9x1 mm

51 <i1186803 i>O-RING 02037 EPDM

52 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

53 <i1523669 i>INFUSION ROD BUSHING

55 <i1523667 i>REGULATION DISC BUSHING

56 <i1523655 i>COMPLETE FEEDING VALVE

57 <i1348817 i>STAINLESS STEEL CIRCLIP RA-4 UNI 7437

58 <i1184853 i>ROLL PIN

59 <i1346801 i>LEVER BUSHING

60 <i1184850 i>MICRO CONTROL LEVER

61 <i1250810 i>LEVER RETURN SPRING  ø 10x31/45 mm

65 <i1250812 i>SHOCK ABSORBER SPRING ø 13x64 mm

67 <i1348814 i>S/STEEL COGGED WASHER M4 UNI 8842

68 <i1240801 i>MICROSWITCH FOR PUMP C 109 ZP 16A 250V

77 <i1241829 i>BREWING GROUP HANDLE

<T1

RANCILIO
T1>



AUTOMATIC GROUP Z9 Z11

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

2 <i1250808 i>CONTROL LEVER SPRING ø 14x23/40 mm

7 <i1186410 i>FLAT EPDM GASKET ø 21x16x2 mm

8 <i1184826 i>SPRING FOR CONTROL VALVE

9 <i1250039 i>SPRIN HOLDER  BUSHING

10 <i1186427 i>FLAT EPDM GASKET ø 10x4x2 mm

13 <i1186460 i>LIP SEAL ø 19x13x4 mm

16 <i1186825 i>COFFEE GROUP GASKET ø 32 mm

17 <i1186826 i>COFFEE GROUP GASKET ø 32 mm

20 <i1186827 i>COFFEE GROUP GASKET ø 125x105x1 mm

23 <i1250816 i>CAP SPRING ø 12x22 mm

25 <i1348326 i>SPRING RING RA-7 UNI 7437

37 <i1439810 i>CAP FOR BREW GROUP

38 <i1186619 i>COPPER FLAT GASKET ø 18x14x1.5 mm

39 <i1184804 i>STAINLESS STEEL SCREW M6x8

40 <i1186811 i>COPPER FLAT GASKET ø 10x6x1 mm

41 <i1523674 i>NON-RETURN VALVE SPRING ø 6x28 mm

42 <i1523675 i>PIN FOR NON RETURN VALVE

45 <i1186831 i>LIP SEAL ø 104x88x8 mm

47 <i1186832 i>LIP SEAL ø 24x14x5 mm

50 <i1186817 i>LIP SEAL ø 51x38x7.5 mm

50 <i1186820 i>LIP SEAL ø 55x41x7.5 mm

51 <i1186816 i>LIP SEAL ø 50x38x7.5 mm

51 <i1186821 i>LIP SEAL ø 54x40x7.5 mm

52 <i1528026 i>SCREW M8x1 mm UNI 5931

53 <i1081003 i>SHOWER SCREEN ø 57.5 mm

54 <i1186812 i>FILTER HOLDER GASKET ø 72x57x8 mm

55 <i1160251 i>1 CUP FILTER 6 g

56 <i1160252 i>2-CUP FILTER 12 GRAMS

57 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

58 <i1165046 i>FILTER HOLDER RANCILIO

59 <i1241511 i>FILTER HOLDER HANDLE

60 <i1186504 i>STAINLESS STEEL WASHER ø 29x10.6x2 mm

61 <i1241513 i>BLIND HEXAGONAL NUT M8 UNI 5721

62 <i1022501 i>SINGLE SPOUT ø 3/8"

63 <i1022502 i>DOUBLE SPOUT ø 3/8"

64 <i1160530 i>1 CUP FILTER 7 gr

65 <i1160529 i>2-CUP FILTER 14 GRAMS

68 <i1160339 i>BLIND FILTER

69 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

70 <i1190005 i>PAPER SEAL ø 70x57x0.5 mm

71 <i1190003 i>RUBBER THICKNESS ø 70x57x1 mm EPDM

72 <i1160345 i>2 CUPS FILTER 18 gr

<T1

RANCILIO
T1>



GROUP S20

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

4 <i1184012 i>S/STEEL SCREW T.C.C.E.I. M5x10 UNI 5931

6 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

8 <i1186811 i>COPPER FLAT GASKET ø 10x6x1 mm

9 <i1184804 i>STAINLESS STEEL SCREW M6x8

10 <i1186812 i>FILTER HOLDER GASKET ø 72x57x8 mm

11 <i1349803 i>BREW GROUP SPRAY NOZZLE ø 21 mm

12 <i1081036 i>SHOWER ø 57.5 mm

13 <i1528516 i>CUT HEAD SCREW M5x12 UNI 6107

14 <i1160339 i>BLIND FILTER

15 <i1160251 i>1 CUP FILTER 6 g

16 <i1160252 i>2-CUP FILTER 12 GRAMS

17 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

18 <i1165046 i>FILTER HOLDER RANCILIO

19 <i1241511 i>FILTER HOLDER HANDLE

20 <i1186504 i>STAINLESS STEEL WASHER ø 29x10.6x2 mm

21 <i1241513 i>BLIND HEXAGONAL NUT M8 UNI 5721

22 <i1241051 i>FILTER HOLDER KNOB CAP

23 <i1022501 i>SINGLE SPOUT ø 3/8"

24 <i1022502 i>DOUBLE SPOUT ø 3/8"

25 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

26 <i1186611 i>O-RING 02025 RED SILICONE

26 <i1186612 i>O-RING 02025 VITON

27 <i1455034 i>S/S SCREW T.C.C.E.I M4x10 UNI 5931

28 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

28 <i1120335 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

29 <i1120332 i>COIL LUCIFER/PARKER 220/240V 9W 50Hz

29 <i3120032 i>COIL PARKER ZB09 9W 220/240V 50/60Hz

30 <i1120334 i>3-WAY MECHANICAL COMPONENT LUCIFER

30 <i1120339 i>3-WAY MECHANICAL COMPONENT PARKER

31 <i1349037 i>DRAIN PIPE

32 <i1528026 i>SCREW M8x1 mm UNI 5931

35 <i1160530 i>1 CUP FILTER 7 gr

36 <i1160529 i>2-CUP FILTER 14 GRAMS

40 <i1384002 i>BRUSH FOR MAINTENANCE

41 <i1069002 i>STAINLESS STEEL MEASURING SPOON 20 ml

42 <i1069001 i>PLASTIC MEASURING SPOON 20 ml

43 <i1384001 i>BRUSH FOR COFFEE SHOWER

44 <i1384003 i>BLACK SHOWER CLEANING BRUSH

45 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

46 <i1385053 i>ANODISED ALUMINUM TAMPER ø 58 mm

47 <i1385600 i>DYNAMOMETRIC MANUAL COFFEE TAMPER ø 57mm

47 <i1385602 i>MANUAL DYNAMOMETRICAL TAMPER ø 57 mm

48 <i1160345 i>2 CUPS FILTER 18 gr

<T1

RANCILIO
T1>



GROUP CLASSE 10 AND MILLENIUM

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

5 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

7 <i1186811 i>COPPER FLAT GASKET ø 10x6x1 mm

8 <i1184804 i>STAINLESS STEEL SCREW M6x8

10 <i1186812 i>FILTER HOLDER GASKET ø 72x57x8 mm

11 <i1349803 i>BREW GROUP SPRAY NOZZLE ø 21 mm

12 <i1081036 i>SHOWER ø 57.5 mm

13 <i1528516 i>CUT HEAD SCREW M5x12 UNI 6107

14 <i1186611 i>O-RING 02025 RED SILICONE

14 <i1186612 i>O-RING 02025 VITON

15 <i1455034 i>S/S SCREW T.C.C.E.I M4x10 UNI 5931

16 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

16 <i1120335 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

17 <i1120332 i>COIL LUCIFER/PARKER 220/240V 9W 50Hz

17 <i3120032 i>COIL PARKER ZB09 9W 220/240V 50/60Hz

18 <i1120334 i>3-WAY MECHANICAL COMPONENT LUCIFER

18 <i1120339 i>3-WAY MECHANICAL COMPONENT PARKER

19 <i1349037 i>DRAIN PIPE

21 <i1002003 i>GROUP COVERING RING

22 <i1160339 i>BLIND FILTER

23 <i1160251 i>1 CUP FILTER 6 g

24 <i1160252 i>2-CUP FILTER 12 GRAMS

25 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

26 <i1165046 i>FILTER HOLDER RANCILIO

27 <i1241047 i>FILTER HOLDER KNOB

28 <i1241050 i>FILTER HOLDER KNOB CAP

29 <i1186504 i>STAINLESS STEEL WASHER ø 29x10.6x2 mm

29 <i1241513 i>BLIND HEXAGONAL NUT M8 UNI 5721

30 <i1022501 i>SINGLE SPOUT ø 3/8"

31 <i1022502 i>DOUBLE SPOUT ø 3/8"

32 <i1160521 i>1 CUP FILTER HOLDER ASSEMBLY RANCILIO

33 <i1160545 i>2 CUPS FILTER HOLDER ASSEMBLY RANCILIO

38 <i1250812 i>SHOCK ABSORBER SPRING ø 13x64 mm

39 <i1528023 i>S/STEEL CROSS SCREW M5x16 mm UNI 7688

45 <i1007001 i>RUBBER SHOCK ABSORBER

46 <i1250029 i>LEVER SPRING ø 10x13/27 mm

54 <i1348817 i>STAINLESS STEEL CIRCLIP RA-4 UNI 7437

55 <i1184853 i>ROLL PIN

59 <i1184850 i>MICRO CONTROL LEVER

60 <i1346801 i>LEVER BUSHING

62 <i1240847 i>MICROSWITCH 5A 250V

63 <i1523667 i>REGULATION DISC BUSHING

65 <i1523669 i>INFUSION ROD BUSHING

66 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

67 <i1186809 i>FLAT TEFLON GASKET ø 12x9x1 mm

68 <i1186803 i>O-RING 02037 EPDM

69 <i1250816 i>CAP SPRING ø 12x22 mm

71 <i1250817 i>VALVE SPRING ø 17x39 mm

73 <i1186822 i>VITON FLAT GASKET ø 13x4x4 mm

76 <i1324801 i>SPINDLE FOR CONTROL ROD

77 <i1250818 i>DRAIN ROD SPRING ø 7x35 mm

78 <i1523659 i>INFUSION SPRING GUIDE BUSHING

79 <i1186828 i>COPPER FLAT GASKET ø 30x26x1 mm

80 <i1523656 i>DRAIN PIPE FITTING

82 <i1523661 i>OUTLET GASKET HOLDER BUSHING

83 <i1250819 i>VALVE SPRING ø 16x30 mm

84 <i1523662 i>OUTLET SPRING GUIDE BUSHING

87 <i1349036 i>DRAIN PIPE

89 <i1160530 i>1 CUP FILTER 7 gr

90 <i1160529 i>2-CUP FILTER 14 GRAMS

91 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

92 <i1160345 i>2 CUPS FILTER 18 gr

<T1

RANCILIO
T1>



GROUP CLASSE 10-8-6 EPOCA

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

3 <i1186677 i>FLAT COPPER GASKET ø 22x18x1.8 mm

4 <i1439028 i>CAP ø 18 mm FOR BREW GROUP

5 <i1501811 i>NOZZLE M8x1 HOLE ø 0,5 mm

11 <i1186812 i>FILTER HOLDER GASKET ø 72x57x8 mm

12 <i1349803 i>BREW GROUP SPRAY NOZZLE ø 21 mm

13 <i1081036 i>SHOWER ø 57.5 mm

14 <i1528516 i>CUT HEAD SCREW M5x12 UNI 6107

15 <i1186611 i>O-RING 02025 RED SILICONE

15 <i1186612 i>O-RING 02025 VITON

16 <i1455034 i>S/S SCREW T.C.C.E.I M4x10 UNI 5931

17 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

17 <i1120335 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

18 <i1120332 i>COIL LUCIFER/PARKER 220/240V 9W 50Hz

18 <i3120032 i>COIL PARKER ZB09 9W 220/240V 50/60Hz

19 <i1120334 i>3-WAY MECHANICAL COMPONENT LUCIFER

19 <i1120339 i>3-WAY MECHANICAL COMPONENT PARKER

20 <i1349037 i>DRAIN PIPE

21 <i1002003 i>GROUP COVERING RING

23 <i1160339 i>BLIND FILTER

24 <i1160251 i>1 CUP FILTER 6 g

25 <i1160252 i>2-CUP FILTER 12 GRAMS

26 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

27 <i1165046 i>FILTER HOLDER RANCILIO

28 <i1241047 i>FILTER HOLDER KNOB

29 <i1241513 i>BLIND HEXAGONAL NUT M8 UNI 5721

30 <i1241050 i>FILTER HOLDER KNOB CAP

31 <i1022501 i>SINGLE SPOUT ø 3/8"

32 <i1022502 i>DOUBLE SPOUT ø 3/8"

33 <i1160521 i>1 CUP FILTER HOLDER ASSEMBLY RANCILIO

34 <i1160545 i>2 CUPS FILTER HOLDER ASSEMBLY RANCILIO

35 <i1160530 i>1 CUP FILTER 7 gr

36 <i1160529 i>2-CUP FILTER 14 GRAMS

37 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

38 <i1190005 i>PAPER SEAL ø 70x57x0.5 mm

39 <i1190003 i>RUBBER THICKNESS ø 70x57x1 mm EPDM

40 <i1160345 i>2 CUPS FILTER 18 gr

<T1

RANCILIO
T1>



WATER-STEAM TAP

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

2 <i1528022 i>GASKET FASTENING NUT

3 <i1186311 i>NBR FLAT GASKET ø 13x4x4 mm

4 <i1324802 i>TAP SPINDLE ASSEMBLY

5 <i1250819 i>VALVE SPRING ø 16x30 mm

6 <i1250025 i>SPRING GUIDE

7 <i1186804 i>CONICAL TEFLON SEAL ø 14x9x6 mm

8 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

9 <i1349038 i>ROD GUIDE FITTING

10 <i1186814 i>STEAM TAP WASHER

11 <i1250816 i>CAP SPRING ø 12x22 mm

12 <i1348052 i>TAP ADJUSTING BUSHING

13 <i1186443 i>TEFLON FLAT GASKET ø 18x9x0.5 mm

14 <i1528017 i>WASHER ø 17x9x1 mm

15 <i1348326 i>SPRING RING RA-7 UNI 7437

16 <i1348805 i>STEAM TAP

17 <i1348804 i>CUP WARMER WATER TAP

18 <i1348829 i>COGGED WASHER

19 <i1449804 i>NUT 3/8" GAS -FE-

20 <i1241046 i>WATER/STEAM TAP KNOB

21 <i1241824 i>WATER TAP KNOB

22 <i1250820 i>STEAM HANDLE SPRING

23 <i1241831 i>STEAM TAP KNOB

24 <i1241830 i>WATER TAP KNOB

25 <i1241833 i>WATER/STEAM TAP KNOB

27 <i1186805 i>O-RING 0115 EPDM

28 <i1250151 i>SPRING ø 12x15 mm FOR STEAM PIPE

29 <i1186670 i>STEAM PIPE BUSHING ø 12x5 mm

30 <i1186201 i>TEFLON FLAT GASKET ø 21x16.8x2 mm

31 <i1449811 i>COMPLETE STEAM PIPE

32 <i1449051 i>STEAM PIPE COMPLETE

33 <i1449863 i>STEAM PIPE COMPLETE

33 <i1449865 i>STAINLESS STEEL STEAM PIPE COMPLETE

34 <i1449802 i>COMPLETE WATER PIPE

35 <i1449052 i>COMPLETE WATER PIPE

36 <i1449864 i>COMPLETE WATER PIPE

37 <i1449052 i>COMPLETE WATER PIPE

38 <i1348044 i>COMPLETE WATER TAP

<T1

RANCILIO
T1>



WATER-STEAM TAP

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1348855 i>MLN STEAM TAP

3 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

4 <i1528019 i>NUT WITH GASKET

5 <i1324078 i>TAP ROD

6 <i1250026 i>SPRING ø 12x31 mm

7 <i1250027 i>SPRING GUIDE

8 <i1186803 i>O-RING 02037 EPDM

9 <i1348046 i>TAP PIN

10 <i1348045 i>TAP BUSHING

11 <i1528020 i>WASHER ø 19x9x1.3 mm

12 <i1186443 i>TEFLON FLAT GASKET ø 18x9x0.5 mm

13 <i1348326 i>SPRING RING RA-7 UNI 7437

14 <i1449804 i>NUT 3/8" GAS -FE-

15 <i1348829 i>COGGED WASHER

17 <i1186805 i>O-RING 0115 EPDM

18 <i1250151 i>SPRING ø 12x15 mm FOR STEAM PIPE

19 <i1186670 i>STEAM PIPE BUSHING ø 12x5 mm

20 <i1186201 i>TEFLON FLAT GASKET ø 21x16.8x2 mm

21 <i1241048 i>STEAM TAP KNOB

22 <i1250820 i>STEAM HANDLE SPRING

23 <i1241046 i>WATER/STEAM TAP KNOB

24 <i1449811 i>COMPLETE STEAM PIPE

24 <i1449865 i>STAINLESS STEEL STEAM PIPE COMPLETE

25 <i1348044 i>COMPLETE WATER TAP

26 <i1449053 i>COMPLETE WATER PIPE

<T1

RANCILIO
T1>



WATER INLET TAP

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

2 <i1348808 i>TAP LEVER BODY

3 <i1348817 i>STAINLESS STEEL CIRCLIP RA-4 UNI 7437

6 <i1348829 i>COGGED WASHER

8 <i1250816 i>CAP SPRING ø 12x22 mm

10 <i1348814 i>S/STEEL COGGED WASHER M4 UNI 8842

11 <i1348813 i>HEXAGONAL NORM.NUT M4 ST.STEEL UNI 5588

12 <i1349038 i>ROD GUIDE FITTING

13 <i1348826 i>LIP SEAL ø 15x9x4.5 mm

14 <i1186810 i>FLAT COPPER GASKET ø 24x21x1 mm

15 <i1348824 i>SPRING GUIDE

18 <i1186311 i>NBR FLAT GASKET ø 13x4x4 mm

20 <i1348810 i>INLET TAP BODY

22 <i1348811 i>SPACER INLET TAP

23 <i1348807 i>WATER INLET TAP

25 <i1523802 i>NON-RETURN VALVE ø 1/8"M-1/4"M

26 <i1348808 i>TAP LEVER BODY

27 <i1348807 i>WATER INLET TAP

29 <i1523010 i>NON-RETURN VALVE BODY

30 <i1186411 i>O-RING 02031 EPDM

31 <i1523011 i>SQUARED NON-RETURN VALVE

32 <i1250040 i>SPRING ø 8x55 mm

33 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

34 <i1186454 i>FLAT EPDM GASKET ø 11x3.6x2 mm

37 <i1250030 i>SPRING ø 11x21 mm

40 <i1523009 i>EXPANSION VALVE ø 3/8"M-1/4"M

41 <i1160012 i>FILTER ø 11 mm

42 <i1250028 i>SPRING ø 10x26 mm

46 <i1250819 i>VALVE SPRING ø 16x30 mm

60 <i1449876 i>DRAIN PIPE ø 3/4"F 2000 mm

<T1

RANCILIO
T1>



LEVELS

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

2 <i1348821 i>COPPER FLAT GASKET ø 15x10x1 mm

4 <i1186251 i>FLAT EPDM GASKET ø 18x12x3 mm

5 <i1186807 i>WASHER ø 18x13x0,5 mm

6 <i1250806 i>LEVEL SPRING ø 17.2x13 mm

7 <i1201006 i>GLASS FASTENING NUT

8 <i1520561 i>LEVEL GLASS ø 12x140 mm

9 <i1323001 i>RED LEVEL BALL

13 <i1341750 i>LEVEL PROBE ø 1/4"M-125 mm

13 <i1341802 i>LEVEL PROBE ø 1/8"M-115 mm

14 <i1201801 i>LEVEL/PRESSURE GAUGE COVER ML

15 <i1201585 i>LEVEL PLATE 90x50 mm

16 <i1449804 i>NUT 3/8" GAS -FE-

18 <i1186314 i>TEFLON FLAT GASKET ø 22x17x2 mm

18 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

20 <i1449877 i>TEFLON LEVEL GLASS  ø 10x107 mm

21 <i1186803 i>O-RING 02037 EPDM

22 <i1390002 i>LEVEL CONTROL CIRCUIT BOARD

24 <i1348829 i>COGGED WASHER

26 <i3221163 i>ORANGE LAMP RECEPTACLE

27 <i3221097 i>NEUTRAL INDICATOR LAMP 220V

29 <i1201007 i>LEVEL GAUGE PLATE 61x18 mm

<T1

RANCILIO
T1>



BOILER Z11

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1523651 i>BOILER VALVE ø 3/8"M

3 <i1186901 i>O-RING 02031 - RED SILICON

4 <i1186362 i>"O" RING 02021 EPDM

5 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

7 <i1349351 i>NUT ø 3/8"

9 <i1449055 i>INJECTION PIPE ø 1/4"M

10 <i1523652 i>BOILER VALVE ø 1/2"M  AUTO-CERTIFIED

11 <i1186823 i>COPPER FLAT GASKET ø 27x21.5x1 mm

12 <i1186801 i>BOILER GASKET ø 175x123x2 mm

15 <i1528026 i>SCREW M8x1 mm UNI 5931

18 <i1186455 i>TEFLON FLAT GASKET ø 65x47x1.5 mm

18 <i3186011 i>FLAT CARBO GASKET ø 63x48x2 mm

19 <i1755182 i>HEATING ELEMENT 3000W 220/380V

19 <i1755183 i>HEATING ELEMENT 6000W 230/380V

19 <i1755777 i>HEATING ELEMENT 2700W 110V

19 <i3355454 i>HEATING ELEMENT 3900W 220V

19 <i3355455 i>HEATING ELEMENT 4500W 220V

20 <i3444230 i>TWO-POLE THERMOSTAT 165°C

23 <i1186456 i>VITON O RING 06300

25 <i1184820 i>S/ STEEL SCREW M6x25 UNI 5739 DIN 24017

29 <i1523051 i>BOILER VALVE ø 3/8"M

<T1

RANCILIO
T1>



BOILER S20

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1523534 i>BOILER VALVE ø 1/4"M

1 <i1523537 i>BOILER VALVE ø 1/4"M

1 <i1523651 i>BOILER VALVE ø 3/8"M

3 <i1186901 i>O-RING 02031 - RED SILICON

4 <i1186362 i>"O" RING 02021 EPDM

5 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

8 <i1349351 i>NUT ø 3/8"

9 <i1341802 i>LEVEL PROBE ø 1/8"M-115 mm

10 <i1523700 i>NON-RETURN VALVE ø 1/8"M-1/8"M

13 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

14 <i1523652 i>BOILER VALVE ø 1/2"M  AUTO-CERTIFIED

15 <i1186823 i>COPPER FLAT GASKET ø 27x21.5x1 mm

16 <i1186801 i>BOILER GASKET ø 175x123x2 mm

17 <i1186808 i>BOILER GASKET ø 145x135x5 mm

20 <i1528026 i>SCREW M8x1 mm UNI 5931

21 <i1186455 i>TEFLON FLAT GASKET ø 65x47x1.5 mm

22 <i1186453 i>O-RING M 0500-40 RED SILICONE

23 <i1755182 i>HEATING ELEMENT 3000W 220/380V

23 <i1755777 i>HEATING ELEMENT 2700W 110V

23 <i3355453 i>HEATING ELEMENT 2100W 220V

23 <i3355454 i>HEATING ELEMENT 3900W 220V

23 <i3355455 i>HEATING ELEMENT 4500W 220V

24 <i1449055 i>INJECTION PIPE ø 1/4"M

25 <i3444230 i>TWO-POLE THERMOSTAT 165°C

30 <i1444004 i>THREE-PHASE THERMOSTAT 187°C

31 <i1443002 i>CONTACT THERMOSTAT 165°C M4

34 <i1186612 i>O-RING 02025 VITON

36 <i1186449 i>BOILER GASKET ø 130x116x2 mm

37 <i1186806 i>SILICONE O-RING 04475

38 <i1186450 i>FLAT GASKET ø 32x26x1 mm

39 <i1186458 i>RED SILICONE RING 03050

41 <i1755801 i>HEATING ELEMENT 1700W 230V

42 <i1245900 i>BOILER PRESSURE GAUGE ø 52 mm 0÷2.5 bar

43 <i1523051 i>BOILER VALVE ø 3/8"M

<T1

RANCILIO
T1>



BOILER EPOCA-MILLENIUM

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1186801 i>BOILER GASKET ø 175x123x2 mm

3 <i1528026 i>SCREW M8x1 mm UNI 5931

4 <i1320531 i>PRESSURE SWITCH P302/6 3-POLES 30A

6 <i1186455 i>TEFLON FLAT GASKET ø 65x47x1.5 mm

7 <i1755182 i>HEATING ELEMENT 3000W 220/380V

7 <i1755183 i>HEATING ELEMENT 6000W 230/380V

7 <i1755777 i>HEATING ELEMENT 2700W 110V

7 <i3355454 i>HEATING ELEMENT 3900W 220V

10 <i3444230 i>TWO-POLE THERMOSTAT 165°C

11 <i1523651 i>BOILER VALVE ø 3/8"M

13 <i1186901 i>O-RING 02031 - RED SILICON

14 <i1186362 i>"O" RING 02021 EPDM

15 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

17 <i1523652 i>BOILER VALVE ø 1/2"M  AUTO-CERTIFIED

18 <i1186823 i>COPPER FLAT GASKET ø 27x21.5x1 mm

19 <i1341802 i>LEVEL PROBE ø 1/8"M-115 mm

20 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

21 <i1755048 i>HEATING ELEMENT 4300W 230/400V

22 <i1755186 i>COVER FOR HEATING ELEMENT M 10x1

23 <i1444005 i>BIPOLAR THERMOSTAT 165°

34 <i1186411 i>O-RING 02031 EPDM

35 <i1250030 i>SPRING ø 11x21 mm

36 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

37 <i1186454 i>FLAT EPDM GASKET ø 11x3.6x2 mm

38 <i1341801 i>TEMPERATURE PROBE ø 3/8"M

39 <i1186346 i>O-RING 02043 EPDM

42 <i1523652 i>BOILER VALVE ø 1/2"M  AUTO-CERTIFIED

42 <i1523801 i>BOILER VALVE ø 3/8"M

44 <i1523651 i>BOILER VALVE ø 3/8"M

48 <i1349351 i>NUT ø 3/8"

49 <i1449804 i>NUT 3/8" GAS -FE-

55 <i1349111 i>FITTING ø 1/8"M 1/4"M

56 <i1186619 i>COPPER FLAT GASKET ø 18x14x1.5 mm

57 <i1455352 i>VOLUMETRIC FLOWMETER GICAR

58 <i1245900 i>BOILER PRESSURE GAUGE ø 52 mm 0÷2.5 bar

59 <i1245013 i>BOILER-PUMP PRESSURE GAUGE ø 63 mm

61 <i1523051 i>BOILER VALVE ø 3/8"M

<T1

RANCILIO
T1>



BOILER CLASSE 10

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1186801 i>BOILER GASKET ø 175x123x2 mm

4 <i1528026 i>SCREW M8x1 mm UNI 5931

5 <i1186455 i>TEFLON FLAT GASKET ø 65x47x1.5 mm

6 <i1755048 i>HEATING ELEMENT 4300W 230/400V

6 <i1755049 i>HEATING ELEMENT 6000W 230V

6 <i1755182 i>HEATING ELEMENT 3000W 220/380V

7 <i1755186 i>COVER FOR HEATING ELEMENT M 10x1

8 <i1186201 i>TEFLON FLAT GASKET ø 21x16.8x2 mm

10 <i1444004 i>THREE-PHASE THERMOSTAT 187°C

12 <i1120352 i>2-WAY SOLENOID VALVE PARKER 230V 50/60Hz

13 <i1184006 i>S/S SCREW T.C.C.E.I. M4x12 UNI 7984

14 <i1186611 i>O-RING 02025 RED SILICONE

14 <i1186612 i>O-RING 02025 VITON

27 <i1527812 i>DRAIN TUB NSF

28 <i1349806 i>NUT ø 3/4"

29 <i1245012 i>PUMP PRESSURE GAUGE ø 41 mm 0÷16 bar

30 <i1245014 i>BOILER PRESSURE GAUGE ø 40 mm 0÷2.5 bar

30 <i1245023 i>BOILER PRESSURE GAUGE ø 40 mm 0÷2.5 bar

31 <i1341801 i>TEMPERATURE PROBE ø 3/8"M

32 <i1186346 i>O-RING 02043 EPDM

33 <i1523059 i>BOILER VALVE ø 3/8"M - 1.8 bar CE/PED

33 <i1523801 i>BOILER VALVE ø 3/8"M

34 <i1186314 i>TEFLON FLAT GASKET ø 22x17x2 mm

34 <i1186394 i>ASBESTOS FREE FLAT GASKET ø 22x17x2 mm

36 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

37 <i1341802 i>LEVEL PROBE ø 1/8"M-115 mm

39 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

41 <i1449055 i>INJECTION PIPE ø 1/4"M

46 <i1449804 i>NUT 3/8" GAS -FE-

48 <i1455352 i>VOLUMETRIC FLOWMETER GICAR

<T1

RANCILIO
T1>



HOUSEHOLD LINE

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1443206 i>CONTACT THERMOSTAT 100°C

2 <i1444007 i>CONTACT THERMOSTAT 140°C 10A 250V

3 <i1443002 i>CONTACT THERMOSTAT 165°C M4

4 <i1528023 i>S/STEEL CROSS SCREW M5x16 mm UNI 7688

6 <i1186457 i>RED SILICONE O RING 0177

8 <i1186811 i>COPPER FLAT GASKET ø 10x6x1 mm

9 <i1184804 i>STAINLESS STEEL SCREW M6x8

10 <i1186611 i>O-RING 02025 RED SILICONE

10 <i1186612 i>O-RING 02025 VITON

11 <i1184006 i>S/S SCREW T.C.C.E.I. M4x12 UNI 7984

12 <i1186452 i>FILTER HOLDER GASKET ø 73x58x8 mm

13 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

14 <i1349803 i>BREW GROUP SPRAY NOZZLE ø 21 mm

15 <i1081036 i>SHOWER ø 57.5 mm

16 <i1528516 i>CUT HEAD SCREW M5x12 UNI 6107

17 <i1349037 i>DRAIN PIPE

18 <i1160251 i>1 CUP FILTER 6 g

19 <i1160252 i>2-CUP FILTER 12 GRAMS

28 <i1186803 i>O-RING 02037 EPDM

29 <i1186612 i>O-RING 02025 VITON

32 <i1186822 i>VITON FLAT GASKET ø 13x4x4 mm

34 <i1186620 i>COPPER FLAT GASKET ø 22x17x1.5 mm

47 <i1122737 i>VIBRATORY PUMP EP5 48W 230V 50Hz

48 <i1755046 i>HEATING ELEMENT 1100W 230V

49 <i5031156 i>BOILER WITH HEATING ELEMENT 230V 1100W

54 <i3060608 i>O-RING O3050 EPDM

76 <i1186346 i>O-RING 02043 EPDM

78 <i1186421 i>O-RING 02018 EPDM

90 <i1165030 i>2 CUPS FILTER HOLDER ASSEMBLY RANCILIO

<T1

RANCILIO
T1>



ELECTRICAL PARTS Z11-S20

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

1 <i1201585 i>LEVEL PLATE 90x50 mm

3 <i1527004 i>DRAIN TUB Z9 Z11

5 <i3449462 i>HOSE CLAMP 12-20

6 <i1449671 i>DRAIN PIPE ELISPIR ø 14x20 mm - 5 m

7 <i1221801 i>GREEN INDICATOR LAMP 230V

8 <i1241821 i>SELECTOR SWITCH KNOB ø 42 mm

9 <i1313501 i>FOOT ø 60x45 mm M10

11 <i1319807 i>SELECTOR SWITCH 0-2 POSITIONS 32A 600V

12 <i1245651 i>BOILER-PUMP PRESSURE GAUGE ø 63 mm

14 <i1319047 i>SELECTOR SWITCH 0-1 POSITIONS 20A 500V

15 <i1241821 i>SELECTOR SWITCH KNOB ø 42 mm

16 <i1319815 i>PUSH-BUTTON WHITE

17 <i1319806 i>BLACK BIPOLAR SWITCH 16A 250V

18 <i1319805 i>BLUE BIPOLAR SWITCH 16A 250V

19 <i3351601 i>RELAY B1-3 16A 230V 50/60Hz

22 <i1319803 i>PUSH-BUTTON PANEL 5 BUTTONS

25 <i1341301 i>LEVEL ADJUSTER NRL30/1E-2C/F 230V

26 <i1341601 i>LEVEL REGULATOR RL30/1E/2C/F 120V

26 <i1341631 i>DOSER CONTROL BOX 30/1GR/F 230V 50Hz

27 <i1319862 i>BLACK BIPOLAR SWITCH 16A 250V

29 <i1319809 i>BLACK BIPOLAR SWITCH 16A 250V

<T1

RANCILIO
T1>



ELECTRICAL PARTS MILLENIUM

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

2 <i1185811 i>CUP WARMING GRID Z11

8 <i1201801 i>LEVEL/PRESSURE GAUGE COVER ML

14 <i1313803 i>FOOT ø 63 mm M10 H=45

15 <i1319857 i>PUSH-BUTTON PANEL 5 BUTTONS

17 <i1319862 i>BLACK BIPOLAR SWITCH 16A 250V

18 <i1319806 i>BLACK BIPOLAR SWITCH 16A 250V

19 <i1319858 i>BIPOLAR PUSH BUTTON 16A 250V

19 <i1319859 i>BIPOLAR SWITCH 16A 250V

20 <i1319860 i>BIPOLAR SWITCH 16A 250V

20 <i1319861 i>FIXED BUTTON

24 <i1319863 i>PUSH-BUTTON PANEL 5 BUTTONS

<T1

RANCILIO
T1>



ELECTRICAL PARTS EPOCA-CLASSE10

Positions without LF code no.: upon request

<T1

RANCILIO
T1>



Position LF code no. Description

3 <i1319115 i>PUSH-BUTTON PANEL 1 BUTTON

9 <i1313802 i>FOOT ø 40 mm M8 H=31

10 <i1319865 i>BLACK BIPOLAR SWITCH 16A 250V

12 <i1319114 i>PUSH-BUTTON PANEL 5 BUTTONS

13 <i1319113 i>PUSH-BUTTON PANEL 5 BUTTONS

14 <i1201007 i>LEVEL GAUGE PLATE 61x18 mm

17 <i1319105 i>PUSH-BUTTON PANEL 3 BUTTONS

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Axial motors
T2>

<|1240199 |> AX IA L FAN  60x60x25 m m  24VD C <| |>

24VDC 0.08A 1.2W 2500rpm - with bushing
 for Coffee machine (RANCILIO) CLASSE8  

    

RANCILIO  10110471  

<T2

Bearings
T2>

<|1063911 |> BEAR IN G  6202 2Z <| |>

external ø 35 mm-internal ø 15 mm-thickness 11 mm

    

RANCILIO  44015010  

<T2

Boiler safety valves
T2>

<|1523653 |> BOILER VALVE ø 1/2"M <|1523652 |> BOILER VALVE ø 1/2"M   AU TO-CERTIFIED
calibration pressure 1,8 bar calibration pressure 1,8 bar

 steam release 6.3 Kg/h  steam release 6.3 Kg/h
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (SPAZIALE) RAPID - SPAZIO  for Coffee machine (SPAZIALE) RAPID - SPAZIO

    

RANCILIO  RANCILIO  10060511 RANCILIO  10060512

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1523534 |> BOILER VALVE ø 1/4"M <|1523537 |> BOILER VALVE ø 1/4"M

stainless steel - new model stainless steel - old model
 internal teflon coating - or viton  or viton
 for Coffee machine (ASTORIA CMA) ARGENTA - DIVINA  
 for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CARIMALI) ECO - UNO  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (FAEMA) DUEA - ELITE - EXPRESS  
 E61 - E64 - E66 - E91 - E92 - P4 - P6  
 for Coffee machine (NUOVA SIMONELLI) MACCUP  
 OPTIMA  
 for Coffee machine (PAVONI) BAR - BART - PUB  
 for Coffee machine (SAN MARCO) NS85  

    

RANCILIO  10060055  RANCILIO

<|1523051 |> BOILER VALVE ø 3/8"M <|1523651 |> BOILER VALVE ø 3/8"M

    

RANCILIO  RANCILIO  10060050

<|1523801 |> BOILER VALVE ø 3/8"M <|1523059 |> BOILER VALVE ø 3/8"M  - 1.8 b ar CE/PED
calibration pressure 1,6 bar calibration pressure 1.6 bar

 for Coffee machine (PROMAC) CLUB - COMPACT - GREEN  steam outlet flowrate 87 Kg/h
 for Coffee machine (RANCILIO) EPOCA  teflon viton seal
  operating temperature -20/+200°C
  certified valve CE/PED
  for Coffee machine (WEGA) AIRY - ANTARES - ATLAS
  NOVA - ORION - POLARIS

    

RANCILIO  10060514 RANCILIO  10060527  RANCILIO

<T2

Boilers
T2>

<|5031156 |> BOILER W ITH H EATIN G ELEM ENT 230V 1100W <| |>

    

RANCILIO  10705397 RANCILIO  10705637 RANCILIO  20102944  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Booster pumps
T2>

<|1330012 |> R OTARY VANE PU M P  PR OCON  ø 3/8" NPT <|1349100 |> PU M P CONN ECTION ø  3/8"CON IC-3/8" STR AIGH
clamp connection 3/8"CONICAL(NPT)-3/8"STRAIGHT

 flow rate 200 l/h  for Coffee machine (CONTI) XEOS2
 equipped with balanced bypass  
 connection ø 3/8" conical NPT  
 for Coffee machine (ASTORIA CMA) ARGENTA - BRAVA  
 COMPACT - DIVINA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (GAGGIA) DECO - GD - GE - XD  
 XE  
 for Coffee machine (WEGA) CONCEPT  

    

RANCILIO  69000039  RANCILIO

<|1168011 |> STAINLESS STEEL CL AM P F OR  F LAN GE PU M P <| |>

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

<|1330030 |> R OTARY VANE PU M P  R OTO FLOW  ø  3/8" G AS <| |>

clamp connection
 flowrate 200 L/h  
 with balanced by-pass  
 coupling ø 3/8" GAS with nose cap strike  
 N.S.F. approved  

    

RANCILIO  10705960  

<|1330002 |> R OTARY VANE PU M P  R OTO FLOW  ø  3/8" N PT <|1349100 |> PU M P CONN ECTION ø  3/8"CON IC-3/8" STR AIGH
clamp connection 3/8"CONICAL(NPT)-3/8"STRAIGHT

 flowrate 200 L/h  for Coffee machine (CONTI) XEOS2
 equipped with balanced bypass  
 NSF approved  
 PA204  
 for Coffee machine (ASTORIA CMA) ARGENTA - BRAVA  
 COMPACT  
 for Coffee machine (AZKOYEN) AZ04 - VIENNA  

    

RANCILIO  69000266  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1168011 |> STAINLESS STEEL CL AM P F OR  F LAN GE PU M P <| |>

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

<T2

Bumpers
T2>

<|1007001 |> R UB BER  SHOCK ABSORB ER <| |>

for brew group lever

    

RANCILIO  36901599  

<T2

Capacitors
T2>

<|3068016 |> CAPACITOR  µF  10 450V 50/60Hz <|3068019 |> CAPACITOR  µF  12.5 450V 50/60Hz
operating temperature -25+85°C operating temperature -25+85°C

 in compliance with EEC 93/68 and 92/31 regulations  in compliance with EEC 93/68 and 92/31 regulations
 for Coffee machine (FAEMA) COMPACT - DUE - DUEA  
 EXPRESS - E91  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

RANCILIO  34020003 RANCILIO  65206002  RANCILIO  34020004

<|3068024 |> CAPACITOR  µF  16 450V 50/60Hz <|3068008 |> CAPACITOR  µF  5 450V 50/60Hz
operating temperature -25+85°C operating temperature -25+85°C

 in compliance with EEC 93/68 and 92/31 regulations  in compliance with EEC 93/68 and EEC 92/31 regulat

    

RANCILIO  34020016 RANCILIO  65206004  RANCILIO  65206010

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|3068010 |> CAPACITOR  µF  6.3 450V 50/60Hz <| |>

operating temperature -25+85°C
 in compliance with EEC 93/68 and EEC 92/31 regulat  

    

RANCILIO  65206002 RANCILIO  65206009  

<T2

Caps
T2>

<|1439028 |> CAP  ø 18 m m  FOR  BR EW  G R OUP <|1439810 |> CAP  FO R BREW  G R OU P

    

RANCILIO  20122652  RANCILIO  23218030

<T2

Circlips
T2>

<|1348326 |> SPRIN G RIN G RA -7 U NI 7437 <|1242654 |> STAINLESS STEEL CIR CLIP A-15 U NI 7435

    

RANCILIO  37510700  RANCILIO  37521500

<|1348817 |> STAINLESS STEEL CIR CLIP RA -4 U NI 7437 <|1250023 |> STAINLESS STEEL CIR CLIP RA -5 U NI 7437

    

RANCILIO  37510400  RANCILIO  37510500

<T2

Clamps
T2>

<|3449462 |> HO SE CLAM P 12-20 <| |>

for hoses ø 12÷20 mm
 made of stainless steel AISI 304  
 height 9 mm and screw E7  

    

RANCILIO  69000081  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Coffee filters
T2>

<|1160504 |> 2 CU PS POD FILTER <| |>

    

RANCILIO  

<|1160607 |> ADAPTER FILTER  F /COFF EE PODS EP R AN CILIO <|1165187 |> BOTTOM LESS FILTER  H OLDER  R ANCILIO
for bottomless filter holders specifically used wings 6.2 mm

 for the machine type  
 food-safe certified  
 for Coffee machine (RANCILIO)  

    

RANCILIO  RANCILIO

<|1160600 |> ADAPTER FILTER  F OR EP CAPSU LES <|1165181 |> BOTTOM LESS FILTER  H OLDER  BEZZER A
to match with the machine-brand specific wings 5.5 mm

 bottomless filter holder  
 food-safe certification  
 for MODEL E61 GROUPS  
 for Coffee machine (BEZZERA)  
 for Coffee machine (BRASILIA)  
 for Coffee machine (EXPOBAR)  
 for Coffee machine (FAEMA)  
 for Coffee machine (GRIMAC)  
 for Coffee machine (MARZOCCO)  
 for Coffee machine (SAB ITALIA)  
 for Coffee machine (SANREMO)  
 for Coffee machine (SCALA)  
 for Coffee machine (VIBIEMME)  
 for Coffee machine (WEGA)  

    

RANCILIO  

<|1165035 |> BOTTOM LESS FILTER  H OLDER  BR ASILIA <|1165183 |> BOTTOM LESS FILTER  H OLDER  FAEM A
wings 5.5 mm wings 7.2 mm

    

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1165186 |> BOTTOM LESS FILTER  H OLDER  M AR ZOCCO <|1165188 |> BOTTOM LESS FILTER  H OLDER  VIBIEM M E

wings 6.3 mm wings 6.2 mm

    

<|1165189 |> BOTTOM LESS FILTER  H OLDER  W EG A <| |>

wings 6.4 mm

    

<|1160339 |> BLIN D F ILTER <|1160293 |> M EM BR AN E BLIND  FILTER
for Coffee machine (ASTORIA CMA) DIVINA for Coffee machine (CARIMALI) ETABETA - ETABETAV2

 for Coffee machine (AZKOYEN) AZ04 - VIENNA  E9 - KIKKO - PRATICA - TEMASTYLE
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (CIMBALI) M27 - M30
 for Coffee machine (BRASILIA) CENTURY - GRADISCA  
 PORTOFINO  
 for Coffee machine (CIMBALI) M27 - M30  
 for Coffee machine (CONTI)  
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  
 E61 - E64 - E66 - E91 - P4 - P6  
 for Coffee machine (GAGGIA) D90 - E90  
 for Coffee machine (NUOVA SIMONELLI) MACCUP  
 for Coffee machine (PAVONI) BAR - BART - PUB  
 for Coffee machine (RANCILIO) EPOCA  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  

    

RANCILIO  40100105  RANCILIO  38123057

<|1460100 |> PR ECISION  F ILTER 1 CUP  6/8 g <|1460101 |> PR ECISION  F ILTER 1 CUP  7/9 g
round holes with conical section round holes with conical section

 Aisi 304 stainless steel - food-safe certified  Aisi 304 stainless steel - food hygiene certified
 matching tamper ø 58 mm  matching tamper ø 58 mm
 for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA  for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA
 FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO  FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
 N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO  N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
 VICTORIA ARDUINO  VICTORIAARDUINO
 for GROUPS E61 ASCASO-BEZZERA-BFC-BIANCHI  for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
 BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC  BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
 IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE  IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
 QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA  QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
 VIBIEMME-WEGA  VIBIEMME-WEGA

    

RANCILIO  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1460102 |> PR ECISION  F ILTER 2 CUP S 12/18 g <|1460103 |> PR ECISION  F ILTER 2 CUP S 14/20 g

round holes with conical section round holes with section conical
 Aisi 304 stainless steel - food hygiene certified  Aisi 304 stainless steel - food hygiene certified
 matching tamper ø 58 mm  matching tamper ø 58 mm
 for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA  for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA
 FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO  FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
 N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO  N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
 VICTORIAARDUINO  VICTORIAARDUINO
 for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI  for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
 BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC  BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
 IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE  IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
 QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA  QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
 VIBIEMME-WEGA  VIBIEMME-WEGA

    

RANCILIO  RANCILIO

<|1460104 |> PR ECISION  F ILTER 2 CUP S 18/22 g <|1160251 |> 1 CU P F ILTER 6 g
round holes with conical section for Coffee machine (AZKOYEN) AZ04 - VIENNA

 Aisi 304 stainless steel - food hygiene certified  for Coffee machine (BEZZERA) ELLISSE
 matching tamper ø 58 mm  for Coffee machine (BRASILIA) CENTURY - GRADISCA
 for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA  PORTOFINO
 FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO  for Coffee machine (CONTI) CLUB - XEOS2
 N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO  for Coffee machine (ESSIKA) SK2 - SSK2
 VICTORIAARDUINO  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
 for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI  E61 - E64 - E66 - E91 - P4 - P6
 BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC  for Coffee machine (GAGGIA) CAREZZA - CLASSIC
 IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE  DECO - EVOLUTION - GD - GE - LCD - XD - XE
 QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA  for Coffee machine (RANCILIO) EPOCA
 VIBIEMME-WEGA  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS
  for Coffee machine (VFA EXPRES) ELITE - MAGESTIC
  SPLENDOR

    

RANCILIO  RANCILIO  40100001

<|1160530 |> 1 CU P F ILTER 7 g r <|1160503 |> 1 CU P POD  F ILTER
for Coffee machine (RANCILIO) EPOCA

    

RANCILIO  40100015  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1160345 |> 2 CU PS FILTER  18 g r <|1160252 |> 2-CU P F ILTER 12 GR AM S

for Coffee machine (AZKOYEN) AZ04 - VIENNA
  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO
  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
  E61 - E64 - E66 - E91 - P4 - P6
  for Coffee machine (GAGGIA) DECO - D90 - E90 - GD
  GE - LCD - TS - XD - XE
  for Coffee machine (RANCILIO) EPOCA
  for Coffee machine (VFA EXPRES) ELITE - MAGESTIC
  SPLENDOR
  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION

    

RANCILIO  RANCILIO  40100010

<|1160529 |> 2-CU P F ILTER 14 GR AM S <| |>

for Coffee machine (RANCILIO) EPOCA
 for Coffee machine (WEGA) CONCEPT56  

    

RANCILIO  40100020  

<T2

Coffee groups
T2>

<|1184823 |> AR TICU LATION B USHIN G <|1242652 |> CHR OM IU M -PL ATED  F ORK FOR  LEVER GR OU P
for brew group

    

RANCILIO  23155005  RANCILIO  20112501

<|1523655 |> COM PLETE FEEDIN G VA LVE <|1349036 |> DR AIN  PIPE
for brew group for brew group

 for Coffee machine (RANCILIO) CLASSE10  

    

RANCILIO  10705008  RANCILIO  28400011

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1349037 |> DR AIN  PIPE <|1349802 |> DR AIN  PIPE F ITTING

for brew group for brew group

    

RANCILIO  10090001 RANCILIO  10090002 RANCILIO  10090017  RANCILIO  28400010

RANCILIO  10090018 RANCILIO  38123077  

<|1523656 |> DR AIN  PIPE F ITTING <|1250802 |> INF U SION  CON TR OL L EVER
for brew group for brew group

    

RANCILIO  20113601 RANCILIO  23000059  RANCILIO  10705074

<|1523669 |> INF U SION  R OD B USH IN G <|1523659 |> INF U SION  SPRIN G GU ID E BU SH IN G
for brew group for brew group

    

RANCILIO  20126004 RANCILIO  23000055  RANCILIO  23139001

<|1346801 |> LEVER  BU SHIN G <|1184850 |> M ICRO CON TR OL LEVER
for brew group for brew group

    

RANCILIO  23135006  RANCILIO  32599001

<|1523661 |> OU TL ET G ASKET H OLDER  BU SHING <|1523662 |> OU TL ET SPR IN G  G UID E BU SH IN G
for brew group for brew group

    

RANCILIO  23220012  RANCILIO  23127012

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1523675 |> PIN FOR  N ON RETUR N VALVE <|1523667 |> R EG U LATION DISC BU SH IN G

for brew group for brew group

    

RANCILIO  36130002  RANCILIO  20122601 RANCILIO  23000127

<|1250039 |> SPRIN  HO LDER  BU SHING <| |>

for brew group

    

RANCILIO  23120015  

<T2

Coffee measuring spoons
T2>

<|1069001 |> PL ASTIC M EASU R ING  SPOON  20 m l <|1069002 |> STAINLESS STEEL M EA SU R ING  SPOON 20 m l

    

RANCILIO  38120004  RANCILIO

<T2

Contact thermostats
T2>

<|1443206 |> CON TACT TH ER M OSTAT 100°C <|1444007 |> CON TACT TH ER M OSTAT 140°C 10A 250V

    

RANCILIO  34200056 RANCILIO  34200059  RANCILIO  34200055

<|1443002 |> CON TACT TH ER M OSTAT 165°C M 4 <| |>

with manual reset
 for Coffee machine (BRASILIA) CLUB - LADY  
 for Coffee machine (ELEKTRA) MINIVERTICALE  
 NIVOLA  
 for Coffee machine (RANCILIO) BETSY - SILVIA - S20  
 for Coffee machine (VIBIEMME) DOMOBARJUNIOR  
 DOMOBARSUPER  

    

RANCILIO  34200058  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Cup support grids
T2>

<|1185811 |> CUP  W AR M ING  G R ID  Z 11 <| |>

    

RANCILIO  38123146  

<T2

Drain hoses
T2>

<|1449876 |> DR AIN  PIPE ø 3/4"F  2000 m m <|1449271 |> DR AIN  PIPE ELISPIR  ø 14x20 m m  - 30 m
external ø 20 mm - internal ø 13 mm alimentary

 for Coffee machine (BIANCHI) LUCIA - SARA  
 for Coffee machine (CASADIO) DIECI - DODICI  
 VENTI  
 for Coffee machine (CIMBALI) M24 - M39 - M39GT  
 for Coffee machine (GRIMAC) G11  
 for Coffee machine (VICTORIA ARDUINO) ADONIS  
 ATHENA  

    

RANCILIO  36901801 RANCILIO  69000701  RANCILIO  36901800

<|1449671 |> DR AIN  PIPE ELISPIR  ø 14x20 m m  - 5  m <| |>

alimentary

    

RANCILIO  36901800  

<T2

Drain tanks
T2>

<|1527812 |> DR AIN  TU B N SF <|1527004 |> DR AIN  TU B Z 9 Z11
hose-end ø 15 mm

    

RANCILIO  38123513  RANCILIO  38121007

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Electronic boxes
T2>

<|1341631 |> DO SER CON TR OL BO X 30/1G R/F  230V 50Hz <| |>

for Coffee machine (RANCILIO) L7/DE - S10/DE

    

RANCILIO  34070026  

<T2

Electronic printed-circuit boards
T2>

<|1390002 |> LEVEL CON TR OL CIRCU IT BOAR D <| |>

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
 CLASSE8 - EPOCA  

    

RANCILIO  34070171 RANCILIO  34070211  

<T2

Feet
T2>

<|1313802 |> F OOT ø 40 m m  M 8 H= 31 <|1313501 |> F OOT ø 60x45 m m  M 10

    

RANCILIO  10781304  RANCILIO  10090012

<|1313803 |> F OOT ø 63 m m  M 10 H= 45 <| |>

    

RANCILIO  38123568  

<T2

Filter holder couplings
T2>

<|1002003 |> G ROU P COVERIN G RING <| |>

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
 CLASSE8  

    

RANCILIO  21300760  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Filter holder gaskets
T2>

<|1186812 |> F ILTER  H OLDER  G ASKET ø  72x57x8 m m <|1186452 |> F ILTER  H OLDER  G ASKET ø  73x58x8 m m
with external cuts with external cuts

 for Coffee machine (RANCILIO) CLASSE10 - EPOCA  

    

RANCILIO  36301001  RANCILIO  36301030

<|5048248 |> G ASKET F OR  FILTER  H OLD.ø 74x57.5x8.5 m m <| |>

with external splits

    

RANCILIO  36301034  

<T2

Filter holders for coffee machines
T2>

<|1165155 |> BAR LEY PO D F ILTER HOLD ER  R AN CILIO <|1165162 |> BAR LEY/COF F EE POD S FILTER  H OLDER
flow regulation by wings 6.5 mm

 knob rotation  
 blades 6 mm  

    

RANCILIO  RANCILIO

<|1165187 |> BOTTOM LESS FILTER  H OLDER  R ANCILIO <|1165046 |> F ILTER  H OLDER  R ANCILIO
wings 6.2 mm spout connection ø 3/8" - screw handle connection

  wings 6 mm
  for Coffee machine (RANCILIO) EPOCA

    

RANCILIO  RANCILIO  20112011

<|1160521 |> 1 CU P F ILTER HOLD ER  ASSEM BLY R ANCILIO <|1160545 |> 2 CU PS FILTER  H OLDER  ASSEM BLY RAN CIL IO
spout connection ø 3/8" - screw handle connection spout connection ø 3/8" - screw handle connection

 wings 6 mm - with spring - without filter  wings 6 mm - with spring - without filter

    

RANCILIO  10071010 RANCILIO  10071110  RANCILIO  10071020 RANCILIO  10071120

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1165030 |> 2 CU PS FILTER  H OLDER  ASSEM BLY RAN CIL IO <| |>

spout connection ø 3/8" - screw handle connection
 wings 6 mm - with spring - without filter  
 for Coffee machine (RANCILIO) SILVIA  

    

RANCILIO  10070100 RANCILIO  10070108  

<T2

Filters
T2>

<|1160012 |> F ILTER  ø  11 m m <|1160801 |> W ATER FILTER  M 8x1
for Coffee machine (RANCILIO) CLASSE10

    

RANCILIO  10706070  RANCILIO  10705003

<T2

Fittings
T2>

<|1349102 |> F IT TING  ø  1/4"M -1/4" M <|1349111 |> F IT TING  ø  1/8"M  1/4" M

    

RANCILIO  23217015  RANCILIO  23214025

<|1349103 |> F IT TING  ø  3/8"M -3/8" M <|1349100 |> PU M P CONN ECTION ø  3/8"CON IC-3/8" STR AIGH
for Coffee machine (CONTI) CLUB - SK2 - SSK2 3/8"CONICAL(NPT)-3/8"STRAIGHT

 TWIN STAR2  for Coffee machine (CONTI) XEOS2
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA  
 LOLLO - MERCURY - MINIMAX - REPLICA  
 REVOLUTION - SILVER  

    

RANCILIO  23217019  RANCILIO

<|1349038 |> R OD G U IDE F ITTIN G <| |>

    

RANCILIO  25224001  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Flowmeters
T2>

<|1455032 |> IM PELLER GICA R <|1455352 |> VOLU M ETRIC F LOW M ETER GIC AR
for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA connection ø 1/4"FF

 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC - OFFICE  
 for Coffee machine (FAEMA) COMPACT - DUEA  
 EXPRESS - E92  

    

RANCILIO  RANCILIO  34070050

<T2

Fuses
T2>

<|3049052 |> QU ICK  AC TING  F USE 5x20 - 10 PCS <| |>

250V 4A

    

RANCILIO  65228004  

<T2

Gas taps and accessories
T2>

<|3348044 |> PIPE OLIVE ø 10 m m <| |>

for model PEL 20 - 21

    

RANCILIO  23120010  

<T2

Gaskets and seals
T2>

<|1186394 |> ASBESTOS F R EE F LAT G ASKET ø  22x17x2 m m <|1186449 |> BOILER GA SKET ø 130x116x2 m m
for Coffee machine (ASTORIA CMA) ARGENTA teflon

 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (FAEMA) COMPACT - EXPRESS  
 SPECIAL  
 for Coffee machine (WEGA) MINI  

    

RANCILIO  RANCILIO  36220018

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1186801 |> BOILER GA SKET ø 175x123x2 m m <|1186827 |> COF FEE G ROU P GA SKET ø 125x105x1 m m

teflon - 8 holes

    

RANCILIO  36220015 RANCILIO  36930011  RANCILIO  36206008

<|1186825 |> COF FEE G ROU P GA SKET ø 32 m m <|1186826 |> COF FEE G ROU P GA SKET ø 32 m m
for righthand valve for lefthand valve

    

RANCILIO  36206004  RANCILIO  36206003

<|1186804 |> CON ICAL TEF LON SEAL ø  14x9x6 m m <|1186811 |> COPP ER  F LAT G ASKET ø  10x6x1 m m
for water/steam tap

 for Coffee machine (RANCILIO) CLASSE10 - EPOCA  

    

RANCILIO  36130001  RANCILIO  36240001

<|1348821 |> COPP ER  F LAT G ASKET ø  15x10x1 m m <|1186619 |> COPP ER  F LAT G ASKET ø  18x14x1.5 m m
for Coffee machine (ASTORIA CMA) ARGENTA

  for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA
  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) GRADISCA
  for Coffee machine (CIMBALI) M15 - M20 - M27 - M30
  for Coffee machine (EXPOBAR) EXPRESSO
  MINICOMPACT - MONROC - OFFICE
  for Coffee machine (FAEMA) DUEA - ELITE - EXPRESS
  E61 - E64 - E66 - E91 - E92 - P4 - P6
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (NUOVA SIMONELLI) MACCUP
  OPTIMA
  for Coffee machine (PAVONI) BART
  for Coffee machine (SAN MARCO) 85
  for Coffee machine (SPAZIALE) SELETRON PLUS - S3

    

RANCILIO  36240002  RANCILIO  27270001

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1186620 |> COPP ER  F LAT G ASKET ø  22x17x1.5 m m <|1186823 |> COPP ER  F LAT G ASKET ø  27x21.5x1 m m

for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (FAEMA) DUE - E91 - E92
  SPAZIO
  for Coffee machine (SPAZIALE) RAPID

    

RANCILIO  27350001 RANCILIO  27350002 RANCILIO  27350003  RANCILIO  36240004

<|1186828 |> COPP ER  F LAT G ASKET ø  30x26x1 m m <|3186011 |> F LAT CA RBO GA SKET ø 63x48x2 m m
universal carbo

  for heating element

    

RANCILIO  36240003  RANCILIO

<|1186677 |> F LAT COPP ER  G ASKET ø  22x18x1.8 m m <|1186810 |> F LAT COPP ER  G ASKET ø  24x21x1 m m
for Coffee machine (RANCILIO) CLASSE10 - EPOCA

    

RANCILIO  27400002  RANCILIO  27400001

<|1186427 |> F LAT EPDM  G ASK ET ø 10x4x2 m m <|1186454 |> F LAT EPDM  G ASK ET ø 11x3.6x2 m m

    

RANCILIO  36301009  RANCILIO  36302001

<|1186410 |> F LAT EPDM  G ASK ET ø 21x16x2 m m <|3186280 |> F LAT EPDM  G ASK ET ø 40x28x1.5 m m

    

RANCILIO  36201005  RANCILIO  36201014

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1186450 |> F LAT G ASKET ø 32x26x1 m m <|1186809 |> F LAT TEFLON  G ASKET ø 12x9x1 m m

    

RANCILIO  36240005  RANCILIO  36230006

<|3186278 |> F LAT TEFLON  G ASKET ø 25x16.5x0.5 m m <|1186839 |> G ASKETS KIT FOR  COFF EE G R UO P
hole ø 16 mm

    

RANCILIO  36230011  RANCILIO  10001080

<|1186311 |> NB R FL AT GA SKET ø 13x4x4 m m <|1186171 |> R OU ND COPPER  G ASK ET ø 22x16.5x2.2 m m
for Coffee machine (FAEMA) DUE - E91 - E92 for Coffee machine (PAVONI) BAR - BART - PUB

 NOSTOP  
 for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION  
 LOLLO - REPLICA - REVOLUTION  

    

RANCILIO  36301008  RANCILIO

<|1186443 |> TEF LON FL AT GA SKET ø 18x9x0.5 m m <|1186201 |> TEF LON FL AT GA SKET ø 21x16.8x2 m m
for Coffee machine (CARIMALI) ETABETA

  for Coffee machine (RANCILIO) CLASSE10 - EPOCA

    

RANCILIO  36230001  RANCILIO  36220009

<|1186314 |> TEF LON FL AT GA SKET ø 22x17x2 m m <|1186455 |> TEF LON FL AT GA SKET ø 65x47x1.5 m m
for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA

 for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION  
 LOLLO - REPLICA - REVOLUTION  

    

RANCILIO  LF-1186245  RANCILIO  36930012

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1186822 |> VITON FL AT GA SK ET ø 13x4x4 m m <| |>

for Coffee machine (RANCILIO) CLASSE10

    

RANCILIO  36302002  

<T2

Handles for filterholder-portafilter
T2>

<|1241510 |> F ILTER  H OLDER  H AND LE <|1241511 |> F ILTER  H OLDER  H AND LE
for Coffee machine (RANCILIO) EPOCA

    

RANCILIO  RANCILIO  38121018

<|1241502 |> F ILTER  H OLDER  H AND LE M 10 <|1241501 |> F ILTER  H OLDER  H AND LE M 12
for Coffee machine (BEZZERA) ELLISSE

  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO
  for Coffee machine (PAVONI) BAR - BART

    

RANCILIO  RANCILIO

<|1241504 |> F ILTER  H OLDER  H AND LE M 12 <|1241047 |> F ILTER  H OLDER  KN OB

    

RANCILIO  RANCILIO  38123569

<|1241050 |> F ILTER  H OLDER  KN OB C AP <|1241051 |> F ILTER  H OLDER  KN OB C AP

    

RANCILIO  38123570 RANCILIO  38123599  RANCILIO  38121032

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1141006 |> F ILTER  H OLDER  KN OB M 10 SOF T <|1141007 |> F ILTER  H OLDER  KN OB M 124 SOF T

    

RANCILIO  RANCILIO

<|5051751 |> F ILTER H OLDER KNO B W HITE M 10 <|5054505 |> KN OB F .F ILTERH OLDER M 12 R ED  POLISHED

    

RANCILIO  RANCILIO

<|1242651 |> LEVER  G R OU P COM PLETE HA ND LE <|1241822 |> LEVER  G R OU P HA ND LE

    

RANCILIO  10705075  RANCILIO  38120008

<|1241507 |> R ED  F ILTER HOLD ER  H AND LE M 12 <|5054506 |> R ED  F ILTER HOLD ER  KN OB M 10 POLISH ED

    

RANCILIO  RANCILIO

<|5051102 |> W HITE FILTER  H OLDER  KN OB M 12 <|1141004 |> W OOD EN  F ILTER  H OLDER  HA ND LE M 10

    

RANCILIO  RANCILIO

<|1141003 |> W OOD EN  F ILTER  H OLDER  HA ND LE M 12 <| |>

    

RANCILIO  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Heating elements
T2>

<|1755186 |> COVER  FOR  H EATIN G ELEM ENT M  10x1 <| |>

    

RANCILIO  23210004 RANCILIO  23214024  

<|1755046 |> HEATING  ELEM EN T 1100W  230V <|1755006 |> NU T ø 1/4"
immersed length 60 mm - 2 poles

 ø 55 mm - fittings ø 13 mm  

    

RANCILIO  33122014  

<|3060608 |> O-R ING  O3050 EPDM <| |>

for Coffee machine (CONTI) CLUB - TWIN STAR2
 XEOS2  
 for Coffee machine (ESSIKA) SK2  

    

RANCILIO  36405002 RANCILIO  65456020  

<|1755801 |> HEATING  ELEM EN T 1700W  230V <|3060608 |> O-R ING  O3050 EPDM
immersed length 190 mm - 2 poles for Coffee machine (CONTI) CLUB - TWIN STAR2

 ø 105 mm - fittings ø 1/4"  XEOS2
 for Coffee machine (RANCILIO) EPOCA - S24 - S26  for Coffee machine (ESSIKA) SK2
 S27  

    

RANCILIO  33122017  RANCILIO  36405002 RANCILIO  65456020

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|3355453 |> HEATING  ELEM EN T 2100W  220V <|3186011 |> F LAT CA RBO GA SKET ø 63x48x2 m m

immersed length 210 mm - 6 poles universal carbo
 distance between mounting holes 62 mm  for heating element
 with hole for cap - flange 78x78 mm  
 complete with gasket (3186011)  
 upon request nut (3528003) and washer (3528004)  
 for Coffee machine (RANCILIO)  

    

RANCILIO  33322022  RANCILIO

<|1755777 |> HEATING  ELEM EN T 2700W  110V <|1755182 |> HEATING  ELEM EN T 3000W  220/380V
immersed length 235 mm - 6 poles immersed length 230 mm - 6 poles

 distance between mounting holes 62 mm  distance between the holes 62 mm
 with hole for cap - flange 78x78 mm  with bulb sheath - flange 78x78 mm
 for coffee machines with 2 groups  for coffee machines with 2 groups

    

RANCILIO  33311028  RANCILIO  33322027 RANCILIO  33323300 RANCILIO  36322027

<|3355454 |> HEATING  ELEM EN T 3900W  220V <|3186011 |> F LAT CA RBO GA SKET ø 63x48x2 m m
immersed length 390 mm - 6 poles universal carbo

 distance between mounting holes 62 mm  for heating element
 with hole for cap - flange 78x78 mm  
 complete with gasket (3186011)  
 upon request nut (3528003) and washer (3528004)  
 for Coffee machine (RANCILIO)  

    

RANCILIO  33322039 RANCILIO  33322040  RANCILIO

<|1755048 |> HEATING  ELEM EN T 4300W  230/400V <| |>

immersed length 375 mm - 6 poles
 distance between the holes 62 mm  
 with bulb sheath  - flange 78x78 mm  

    

RANCILIO  33323430  

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|3355455 |> HEATING  ELEM EN T 4500W  220V <|3186011 |> F LAT CA RBO GA SKET ø 63x48x2 m m

immersed length 390 mm - 6 poles universal carbo
 distance between the holes 62 mm  for heating element
 flange 78x78 mm  
 complete with gasket (3186011)  
 upon request nut (3528003) and washer (3528004)  
 for Coffee machine (RANCILIO)  

    

RANCILIO  33322045 RANCILIO  33322046  RANCILIO

<|1755183 |> HEATING  ELEM EN T 6000W  230/380V <|3186011 |> F LAT CA RBO GA SKET ø 63x48x2 m m
immersed length 395 mm - 6 poles universal carbo

 distance between mounting holes 62 mm  for heating element
 with hole for cap - flange 78x78 mm  
 for coffee machines with 4 groups  

    

RANCILIO  33322061 RANCILIO  33322065  RANCILIO

<|1755049 |> HEATING  ELEM EN T 6000W  230V <| |>

immersed length 400 mm - 6 poles
 distance between the holes 62 mm  
 with bulb sheath - flange 78x78 mm  

    

RANCILIO  33323600  

<T2

Injectors
T2>

<|1501811 |> NO ZZLE M 8x1 H OLE ø 0,5 m m <| |>

for brew group
 for Coffee machine (RANCILIO) CLASSE10  

    

RANCILIO  10060507 RANCILIO  10060603 RANCILIO  23210016  

RANCILIO  23212018  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Inlet hoses
T2>

<|3450114 |> PVC PIPE ø 4/7 m m  - 10 m t <|3450214 |> PVC PIPE ø 4/7 m m  - 100 m
alimentary alimentary

    

RANCILIO  38228050 RANCILIO  65143194  RANCILIO  38228050 RANCILIO  65143194

<T2

Ironmongery (screws,nuts,washers)
T2>

<|1241513 |> BLIN D H EX AG ON AL N U T M 8 U NI 5721 <|1348829 |> COG G ED  W ASHER
for Coffee machine (RANCILIO) EPOCA

    

RANCILIO  37320800  RANCILIO  37431600

<|3528291 |> CROSS HEAD  F LU SH  SCR EW  M 4x8 U NI 7688 <|1528100 |> CROSS HEAD  SCR EW  M 4x12 U NI 7687

    

RANCILIO  37030407  RANCILIO  37113913 RANCILIO  37174012

<|1528516 |> CUT H EA D SCREW  M 5x12 U N I 6107 <|1201006 |> G LASS FASTEN IN G  NU T
for Coffee machine (PAVONI) BART

    

RANCILIO  25124007 RANCILIO  37030511 RANCILIO  37030513  RANCILIO  23227004

<|1348813 |> HEX AG ONA L NOR M .NU T M 4 ST.STEEL U NI 5588 <|3528213 |> HEX AG ONA L NOR M A L NU T M 5 UN I 5588

    

RANCILIO  37310400  RANCILIO  37320501

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1349806 |> NU T ø 3/4" <|1349351 |> NU T ø 3/8"

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
  MINIMAX - REVOLUTION - SILVER

    

RANCILIO  23232005  RANCILIO  23222002

<|1449804 |> NU T 3/8" GAS -FE- <|1184820 |> S/ STEEL SCR EW  M 6x25 U NI 5739 D IN  24017

    

RANCILIO  26220005  RANCILIO  37040625

<|1455034 |> S/S SCR EW  T.C.C.E.I M 4x10 U NI 5931 <|1184006 |> S/S SCR EW  T.C.C.E.I. M 4x12 U NI 7984

    

RANCILIO  RANCILIO  37030412

<|3528088 |> S/S SCR EW  T.E. M 8x20 U N I 5739 DIN 24017 <|1348814 |> S/STEEL COG GED W ASH ER M 4 U NI 8842

    

RANCILIO  37040820  RANCILIO  37430400

<|1528023 |> S/STEEL CR OSS SCR EW  M 5x16 m m  U NI 7688 <|1184012 |> S/STEEL SCR EW  T.C.C.E.I. M 5x10 U NI 5931
for Coffee machine (BEZZERA) ELLISSE

 for Coffee machine (FAEMA) COMPACT - DUE - DUEA  
 ELITE - EXPRESS - E61 - E91 - E92  

    

RANCILIO  37060513  RANCILIO  37040510

<|1528001 |> SCR EW  M 4x10 U NI 6109 <|1528026 |> SCR EW  M 8x1 m m  U N I 5931

    

RANCILIO  37184012  RANCILIO  37040821 RANCILIO  37060820

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1528030 |> ST.STEEL H EX AG ON AL N U T M 6 U NI 5588 <|1184804 |> STAINLESS STEEL SCREW  M 6x8

    

RANCILIO  37320600 RANCILIO  37320601  RANCILIO  37060608

<|1186504 |> STAINLESS STEEL W A SH ER  ø 29x10.6x2 m m <|1250803 |> STAINLESS STEEL W A SH ER  F OR  LEVER
for brew group

    

RANCILIO  39520008  RANCILIO  32329003

<|1186814 |> STEAM  TA P W ASHER <|1528017 |> W ASH ER  ø 17x9x1 m m
ø internal 9 mm.

 ø external 13 mm.  

    

RANCILIO  23123003  RANCILIO  32239002

<|1186807 |> W ASH ER  ø 18x13x0,5 m m <|1528020 |> W ASH ER  ø 19x9x1.3 m m

    

RANCILIO  23131005  RANCILIO  32239044

<|1186192 |> W ASH ER  M 5x10 m m  U N I 6592 <| |>

    

RANCILIO  37410501  

<T2

Knobs
T2>

<|1241829 |> BR EW IN G  G ROU P HAN DLE <|1241821 |> SELEC TOR SW ITCH KNOB  ø 42 m m
M8x1 square pin hole 5x5 mm

    

RANCILIO  38111001 RANCILIO  38123088  RANCILIO  10705215 RANCILIO  38123090

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1241048 |> STEAM  TA P KN OB <|1241831 |> STEAM  TA P KN OB

for Coffee machine (RANCILIO) CLASSE10 - EPOCA

    

RANCILIO  10705087  RANCILIO  10060152

<|5030150 |> STEAM  TA P KN OB <|5033626 |> STEAM  TA P KN OB
for Coffee machine (RANCILIO) SILVIA for Coffee machine (RANCILIO) CLASSE10 - CLASSE6

  CLASSE7 - CLASSE8 - CLASSE9 - EPOCA

    

RANCILIO  38121037  RANCILIO  10060181

<|1241824 |> W ATER TAP KN OB <|1241830 |> W ATER TAP KN OB
for Coffee machine (RANCILIO) CLASSE10 - EPOCA

    

RANCILIO  10060176  RANCILIO  10060162

<|1241046 |> W ATER/STEA M  TAP KNOB <|1241833 |> W ATER/STEA M  TAP KNOB

    

RANCILIO  10060175 RANCILIO  38123884  RANCILIO  10060177 RANCILIO  38123564 RANCILIO  38123565

<T2

Lamps
T2>

<|1221801 |> G REEN IN DICATOR LAM P  230V <|3221097 |> NEU TRAL INDIC ATOR  LAM P 220V
head ø 15.5 mm - hole ø 12 mm head ø 8 mm  - 120°C

    

RANCILIO  10111015  RANCILIO  34030116

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|3221095 |> OR ANG E IND ICATOR  L AM P 230V <|3221163 |> OR ANG E LA M P R ECEPTACL E

head ø 13.5 mm - hole ø 10 mm - 120°C head ø 15 mm - hole ø 10 mm
 universal application  

    

RANCILIO  65216018  RANCILIO  34030110

<T2

Level balls
T2>

<|1323001 |> R ED  LEVEL  BALL <| |>

for Coffee machine (ASTORIA CMA)
 for Coffee machine (CIMBALI) M15 - M20 - M25 - M27  
 M30  
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  
 E91 - E92 - E97 - E98 - SPECIAL - SUPERSTAR  
 SUPERTRONIC  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (WEGA) AIRY - ANTARES - ATLAS  
 NOVA - ORION - POLARIS - START  

    

RANCILIO  

<T2

Level gauges
T2>

<|1201007 |> LEVEL GAU G E PLATE 61x18 m m <|1520561 |> LEVEL GL ASS ø 12x140 m m

    

RANCILIO  38123856  RANCILIO  41010010

<|1201010 |> LEVEL GL ASS ASSEM BLY <|1201585 |> LEVEL PLATE 90x50 m m
for Coffee machine (SAN MARCO) NS85

    

RANCILIO  10060380  RANCILIO  38125007

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1449877 |> TEF LON LEVEL G L ASS  ø 10x107 m m <| |>

for  RANCILIO EPOCA-CLASSE6-CLASSE8-CLASSE10
 for PROMAC GREEN-COMPACT  
 for Coffee machine (PROMAC) COMPACT - GREEN  
 for Coffee machine (RANCILIO) CLASSE10 - CLASSE6  
 CLASSE8 - EPOCA  

    

RANCILIO  38228066  

<T2

Level regulators
T2>

<|1341301 |> LEVEL ADJU STER NR L30/1E-2C/F  230V <|1341601 |> LEVEL REG U LATOR  R L30/1E/2C/F  120V
230V 50/60Hz 5A 115/120V 50/60Hz 5A

 for Coffee machine (BIANCHI) SARA  
 for Coffee machine (PAVONI) BART  

    

RANCILIO  34070029  RANCILIO

<T2

Level sensors
T2>

<|3341011 |> LEVEL PR OBE ø 1/4"M  - 140 m m <|1341750 |> LEVEL PR OBE ø 1/4"M -125 m m
for Coffee machine (BIANCHI) LUCIA - SARA for Coffee machine (ASTORIA CMA) PLUS4YOU

 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (FUTURMAT-ARIETE) F3  
 for Coffee machine (NUOVA SIMONELLI) MACCUP  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS  
 EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX  
 REPLICA - REVOLUTION - SILVER  
 for Coffee machine (WEGA) AIRY - ANTARES - ATLAS  
 NOVA - ORION - POLARIS  

    

RANCILIO  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1341751 |> LEVEL PR OBE ø 1/4"M -150 m m <|1341802 |> LEVEL PR OBE ø 1/8"M -115 m m

for Coffee machine (BEZZERA) ELLISSE for Coffee machine (PROMAC) COMPACT - GREEN
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  for Coffee machine (RANCILIO) CLASSE10 - EPOCA
 for Coffee machine (EXPOBAR) EXPRESSO  MILLENIUM - S20
 MINICOMPACT-MOULIN - MINICOMPACT-1GRUPPO  
 MINICOMPACT-2GRUPPI - MONROC - OFFICE  
 for Coffee machine (SAN MARCO) NS85  

    

RANCILIO  RANCILIO  10202204 RANCILIO  25110005 RANCILIO  34200086

 RANCILIO  34200088

<T2

Lip seals
T2>

<|1186831 |> LIP SEAL ø 104x88x8 m m <|1348826 |> LIP SEAL ø 15x9x4.5 m m

    

RANCILIO  36101012  RANCILIO  36101002

<|1186460 |> LIP SEAL ø 19x13x4 m m <|1186832 |> LIP SEAL ø 24x14x5 m m
dimensions ø 24x14x5 mm

    

RANCILIO  36101003  RANCILIO  36101004

<|1186816 |> LIP SEAL ø 50x38x7.5 m m <|1186817 |> LIP SEAL ø 51x38x7.5 m m

    

RANCILIO  36101005  RANCILIO  36101006

<|1186821 |> LIP SEAL ø 54x40x7.5 m m <|1186820 |> LIP SEAL ø 55x41x7.5 m m

    

RANCILIO  36101007  RANCILIO  36101008

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Microswitches
T2>

<|3240410 |> M ICRO SW ITCH 16A 250V <|3240449 |> BR ACKET M ICRO F300-45-55-65
for ANGELO PO OLD OVENS FC-FCV

 for ANGELO PO OVEN FC611G-FC611E-FC1011G-FC1011E  
 FC1211G-FC1211E  
 for ANGELO PO FRYER 030FE1-030FE1B-70FE  
 70FE1-70FE1B-70FES-70FES2-71FE-71FE2-71FE2B-30FES  
 30FES2-30FES2B-091FE28  
 for IMESA DRYER ES10-ES55-ES75  

 
for IMESA WASHING MACHINE
LM30-LM40-LM55-LM70-LM85

 

 RC30-RC40-RC55-RC70  
 for SIRMAN CUTTER C4-C6-C6VV-C9  
 for GRANDIMPIANTI DRYER EMS10-EMS15  
 for FAGOR CALENDER PE30/140-PE30/160-PE30/200  
 for FOINOX OVEN JO0611E-JO0611G-JO1011E-JO1011G  
 JO1021E-JO1021G-JO2011E-JO2011G-JO2021E-JO2021G  
 for IPSO CALENDER RI1600/30-RI1600/30AV  

    

RANCILIO  

<|3240203 |> DO OR M ICR OSW ITCH  BU SHING <|3240236 |> LIM IT SW ITCH  CON TR OL
external ø 10x15 mm

    

<|3240234 |> LIM IT SW ITCH  PIN <|3240233 |> M ICROSW ITCH F ITTIN G  M 16x1.5 m m

    

<|3250071 |> M ICROSW ITCH SPR ING  ø 13x25 m m <|3240235 |> R IN G  NU T M 16x1.5 m m

    

<|1240801 |> M ICROSW ITCH F OR  PU M P C 109 ZP 16A 250V <|3240123 |> M ICROSW ITCH 16A 250V
for Coffee machine (SAECO) RIOPROFI - VIAVENEZIA

    

RANCILIO  34100001  RANCILIO  68023055

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1240847 |> M ICROSW ITCH 5A 250V <| |>

    

RANCILIO  34100003  

<T2

Motors
T2>

<|1240709 |> SIN G LE-PHASE CLAM P  M OTOR <| |>

mod.3FGM 150-38/2
 150/320W 220V 50/60Hz  
 capacitor 10 µf  

    

RANCILIO  

<T2

Non-return and expansion valves
T2>

<|1523561 |> EXPAN SION  VALVE ø 1/4"M <|1523009 |> EXPAN SION  VALVE ø 3/8"M -1/4"M
for Coffee machine (ASTORIA CMA)

 for Coffee machine (FAEMA) DUEA - E61 - E64 - E66  
 E91 - E92 - P4 - P6  
 for Coffee machine (PAVONI) BAR - BART - PUB  
 for Coffee machine (SAN MARCO) 85  

    

RANCILIO  RANCILIO  10060460

<|1523802 |> NO N-R ETU R N VALVE ø 1/8"M -1/4"M <|1523700 |> NO N-R ETU R N VALVE ø 1/8"M -1/8"M
with filter for Coffee machine (RANCILIO) EPOCA1GR - S24 - S26

 for Coffee machine (CONTI) TWIN STAR  S27

    

RANCILIO  10720002  RANCILIO  10060505

<|1523512 |> NO N-R ETU R N VALVE ø 3/8"M -1/4"M <|1523010 |> NO N-R ETU R N VALVE BOD Y
for Coffee machine (FAEMA) E61

    

RANCILIO  20123000  RANCILIO  20125301 RANCILIO  23000056

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1523011 |> SQUAR ED N ON -RETUR N  VALVE <| |>

total length 60 mm
 for non-return valve  

    

RANCILIO  23120025  

<T2

Nozzles for coffee groups
T2>

<|1349803 |> BR EW  G ROU P SPR AY N OZZ LE ø 21 m m <| |>

via hole ø 6 mm
 for Coffee machine (RANCILIO) CLASSE10 - EPOCA  

    

RANCILIO  25139001  

<T2

OR and ORM gaskets
T2>

<|1186362 |> "O" RIN G 02021 EPD M <|3501053 |> "O" RIN G 02031 EPD M

    

RANCILIO  36404014  RANCILIO  36404007

<|1186808 |> BOILER GA SKET ø 145x135x5 m m <|3186013 |> O-R ING  G ASKET 06187 EPD M  ø 58 m m
red silicone

    

RANCILIO  36404114  RANCILIO  65456002

<|1186453 |> O-R ING  M  0500-40 RED  SILICON E <|3060608 |> O-R ING  O3050 EPDM
for heating element for Coffee machine (CONTI) CLUB - TWIN STAR2

  XEOS2
  for Coffee machine (ESSIKA) SK2

    

RANCILIO  36404113  RANCILIO  36405002 RANCILIO  65456020

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1186304 |> O-R ING  0112 EPDM <|1186805 |> O-R ING  0115 EPDM

    

RANCILIO  65456015  RANCILIO  36404001

<|3186606 |> O-R ING  0144 EPDM <|3186238 |> O-R ING  0146 EPDM

    

RANCILIO  65456052  RANCILIO  36404020

<|1186014 |> O-R ING  02015 EPDM <|1186421 |> O-R ING  02018 EPDM
for Coffee machine (PAVONI) BAR - BART - PUB for Coffee machine (BRASILIA)

    

RANCILIO  36404049  RANCILIO  36401003

<|1186611 |> O-R ING  02025 R ED  SILICONE <|1186612 |> O-R ING  02025 VITON
for Coffee machine (AZKOYEN) for Coffee machine (AZKOYEN)

 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (BRASILIA) CENTURY - FIRENZE  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 GRADISCA - PORTOFINO  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (CARIMALI) ETABETA  XEOS2
 for Coffee machine (CONTI) CLUB - TWIN STAR2  for Coffee machine (ESSIKA) SK2 - SSK2
 XEOS2  for Coffee machine (EXPOBAR) EXPRESSO
 for Coffee machine (ESSIKA) SK2 - SSK2  MINICOMPACT - MONROC - OFFICE
 for Coffee machine (EXPOBAR) EXPRESSO  for Coffee machine (FAEMA) COMPACT - DUE - DUEA
 MINICOMPACT - MONROC - OFFICE  EXPRESS - E61 - E91 - E92
 for Coffee machine (FAEMA) COMPACT - DUE - DUEA  for Coffee machine (FIORENZATO C.S.) MURANO
 ELITE - E61 - E91 - E92  for Coffee machine (PAVONI) BART
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (RANCILIO) EPOCA - S24 - S26
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  S27
 XLPALLAS  for Coffee machine (SAN MARCO) 85SPRINT - 95SPRINT

    

RANCILIO  RANCILIO  36402001

<|1186901 |> O-R ING  02031 - RED SILICON <|1186411 |> O-R ING  02031 EPDM
for Coffee machine (DELONGHI) ESAM5400EX

    

RANCILIO  36404013  RANCILIO  36407001

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1186803 |> O-R ING  02037 EPDM <|1186346 |> O-R ING  02043 EPDM

for Coffee machine (RANCILIO) CLASSE10 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30
  for Coffee machine (RENEKA) VIVA - XLPALLAS

    

RANCILIO  36402003 RANCILIO  65456019  RANCILIO  36401002

<|1186631 |> O-R ING  02112 VITON <|3243389 |> O-R ING  03162 EPDM
for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA

 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC - OFFICE  
 for Coffee machine (FAEMA) COMPACT - DUEA - ELITE  
 EXPRESS - E92  

    

RANCILIO  RANCILIO  68020429

<|1186237 |> O-R ING  03300 EPDM <|1186655 |> O-R ING  04131 EPDM
for Coffee machine (BEZZERA) ELLISSE

  for Coffee machine (BRASILIA) CENTURY - PORTOFINO

    

RANCILIO  65456038  RANCILIO  36404019

<|1186457 |> R ED  SILICONE O RING  0177 <|1186458 |> R ED  SILICONE R ING  03050
for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA

    

RANCILIO  36405001  RANCILIO  36405002

<|1186806 |> SIL ICONE O-R ING  04475 <|1186456 |> VITON O R ING  06300
for Coffee machine (RANCILIO) EPOCA - S24 - S26

 S27  

    

RANCILIO  36404111  RANCILIO  36404009

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Paper seals
T2>

<|1190005 |> PA PER  SEAL ø 70x57x0.5 m m <|1190001 |> PA PER  SEAL ø 73x59x0.8 m m
for Coffee machine (BRASILIA) GRADISCA

  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
  E61 - E64 - E66 - E91 - P4 - P6
  for Coffee machine (GAGGIA) D90 - E90
  for Coffee machine (PAVONI) BART
  for Coffee machine (RANCILIO) CLASSE10 - EPOCA
  for Coffee machine (VFA EXPRES) ELITE - MAGESTIC
  SPLENDOR
  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER
  for Coffee machine (WEGA) MINI

    

RANCILIO  RANCILIO

<|1190002 |> R UB BER  SEAL ø 73x59x1 m m  EPDM <|1190003 |> R UB BER  THICK NESS ø  70x57x1 m m  EPD M
for Coffee machine (VIBIEMME) CHIMAERA - CUBO

 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

RANCILIO  RANCILIO

<T2

Piezo ignitors
T2>

<|3001007 |> PIEZO IG NITER <| |>

a ø 22 mm hole is needed for the assembly
 2.4 mm ø male faston connector  

    

RANCILIO  69000020  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Pins
T2>

<|1184824 |> LEVER  PIN  ø 6x31 m m <|1184853 |> R OLL PIN
for delivery group for brew group

    

RANCILIO  25118005  RANCILIO  25118004

<|1324801 |> SPIND LE FOR  CON TR OL ROD <|1348046 |> TAP  PIN

    

RANCILIO  25124013  RANCILIO  23224002

<|1324078 |> TAP  R OD <|1324802 |> TAP  SPIN DLE A SSEM BLY
for Coffee machine (RANCILIO) CLASSE10 - EPOCA

    

RANCILIO  10060002  RANCILIO  10706073

<T2

Pipes for coffee machines
T2>

<|1449055 |> INJECTION PIPE ø 1/4"M <| |>

for Coffee machine (PROMAC) CLUB - COMPACT - GREEN
 for Coffee machine (RANCILIO) CLASSE10 - S20 - Z11  

    

RANCILIO  10042172  

<T2

Pressure gauges
T2>

<|1245014 |> BOILER PRESSU R E G AU G E ø 40 m m  0÷ 2.5 b ar <|1245023 |> BOILER PRESSU R E G AU G E ø 40 m m  0÷ 2.5 b ar
single scale 0÷2.5 bar - connection ø 1/8"M single scale 0÷2.5 bar - connection ø 1/8"M

 rim ø 44 mm - body ø 40 mm  rim ø 44 mm - body ø 40 mm
 for Coffee machine (RANCILIO) CLASSE10  for Coffee machine (RANCILIO) CLASSE10

    

RANCILIO  35002508  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1245100 |> BOILER PRESSU R E G AU G E ø 41 m m  0÷ 2.5 b ar <|1245900 |> BOILER PRESSU R E G AU G E ø 52 m m  0÷ 2.5 b ar

single scale 0÷2.5 bar - connection ø 1/8"M single scale 0÷2.5 bar - connection ø 1/4"M
 frame ø 44 mm - case ø 41 mm  rim ø 57 mm - body ø 52 mm
 for Coffee machine (WEGA) AIRY - ANTARES - ATLAS  
 MININOVA - NOVA - NOVECENTO - ORION - POLARIS  

    

RANCILIO  35002503 RANCILIO  35002506  RANCILIO  35002504

<|1245013 |> BOILER-PU M P PR ESSU RE G AUG E ø 63 m m <|1245651 |> BOILER-PU M P PR ESSU RE G AUG E ø 63 m m
double scale 0÷2.5/0÷16 bar - connections ø 1/8"M double scale 0÷2.5/0÷16 bar - connections ø 1/8"M

 rim ø 70 mm - body ø 63 mm  rim ø 70 mm - body ø 63 mm

    

RANCILIO  35162505  RANCILIO  35062501

<|1245012 |> PU M P PRESSU R E GAU G E ø 41 m m  0÷ 16 b ar <| |>

single scale 0÷16 bar - connections ø 1/8"M
 rim ø 44 mm - body ø 41 mm  
 for Coffee machine (RANCILIO) CLASSE10  

    

RANCILIO  35002509  

<T2

Pressure switches
T2>

<|1320541 |> PR ESSU RE SW ITCH  PARK ER <|1320531 |> PR ESSU RE SW ITCH  P302/6 3-PO LES 30A
fitting ø 1/4" CE-SEV-ASE-UL approved

 scale 0.5÷1.4 bar  ISO 228 G connection 1/4"M for pipe ø 4x6 mm
 differential 0.18÷0.03 bar  adjustable scale 0.5÷1.4 bar
 pressure max 2.1 bar  fixed differential 0.15 (ÿ 0.06) bar
 temperature max 140°  fluid temperature max :140°C
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  max contact  load : 220V  7KW (30A)
 DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA  400V 12KW (30A)
 LOLLO - MERCURY - MINIMAX - REPLICA  for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA
 REVOLUTION - SILVER  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (CIMBALI) M15 - M20 - M27 - M30
  for Coffee machine (FAEMA) COMPACT - DUE - DUEA
  EXPRESS - E64 - E66 - E91 - E92 - P4 - P6
  for Coffee machine (RENEKA) VIVAS
  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA

    

RANCILIO  34200112  RANCILIO  34200110 RANCILIO  34200111 RANCILIO  9006806

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Probes
T2>

<|1341801 |> TEM PER ATU RE PR OBE ø 3/8" M <| |>

for Coffee machine (RANCILIO) CLASSE6 - CLASSE8
 EPOCA - S24 - S26 - S27  

    

RANCILIO  34070174  

<T2

Protection plates
T2>

<|1201801 |> LEVEL/PRESSU R E GAU GE COVER  M L <| |>

    

RANCILIO  38123563  

<T2

Pull-through brushes
T2>

<|1384001 |> BR U SH  F OR COFF EE SH OW ER <| |>

    

RANCILIO  38120068  

<T2

Relays
T2>

<|3351601 |> R EL AY B1-3 16A 230V 50/60H z <|3351605 |> R EL AY 60.63 10A 230V 50/60Hz
3 NO contacts 3 switching contacts

  for Coffee machine (CIMBALI) JUNIOR

    

RANCILIO  34200196  RANCILIO  34200192 RANCILIO  65229024 RANCILIO  68023190

<|3351021 |> R EL AY 62.82 16A 230V 50/60Hz <|3351008 |> R EL AY 62.83 16A 230V 50/60Hz
2 switching contacts 3 switching contacts

    

RANCILIO  65929115  RANCILIO  65229036

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|3351602 |> R EL AY 65.31 30A 250V <| |>

1 cut-off contact
 coil 230V 50/60Hz  

    

RANCILIO  65229029  

<T2

Rotary switches
T2>

<|1319047 |> SELEC TOR SW ITCH 0-1 POSITION S 20A  500V <|1319807 |> SELEC TOR SW ITCH 0-2 POSITION S 32A  600V
square pin 5x5 mm square pin 5x5 mm

 for Coffee machine (RANCILIO) Z11  for Coffee machine (MARZOCCO) FB/70 - LINEA
  for Coffee machine (RANCILIO) S20
  for Coffee machine (SAN MARCO) 105 - 85 - 95

    

RANCILIO  34030006  RANCILIO  34030025

<T2

Seals for level glasses
T2>

<|1186251 |> F LAT EPDM  G ASK ET ø 18x12x3 m m <| |>

for level glass

    

RANCILIO  36103002  

<T2

Shower screens for brew group
T2>

<|1460203 |> PR ECISION  SHOW ER  SCR EEN  ø 56 m m <|1460208 |> PR ECISION  SHOW ER  SCR EEN  ø 56 m m
central hole 5.5 mm - 98 holes ø 3 mm central hole 5.5 mm - 112 holes ø 2 mm

 Aisi 316 stainless steel - food-safe certified  Aisi 304 stainless steel - food hygiene certified
 integrated membrane 200 µM  wire membrane 35 µM
 for Coffee machine (MAGISTER)  for Coffee machine (MAGISTER)
 for Coffee machine (RANCILIO)  for Coffee machine (RANCILIO)

    

RANCILIO  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1081536 |> SHOW ER  ø 57 m m <|1081036 |> SHOW ER ø 57.5 m m

for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (PAVONI) BART
  for Coffee machine (RANCILIO) CLASSE10 - EPOCA

    

RANCILIO  RANCILIO  40200005

<|1081003 |> SHOW ER SCR EEN ø 57.5 m m <| |>

    

RANCILIO  40200030 RANCILIO  40200040  

<T2

Solenoid valves
T2>

<|1120332 |> COIL LU CIF ER /PA RKER  220/240V 9W  50Hz <|3120032 |> COIL PAR KER ZB09 9W  220/240V 50/60Hz
width 32 mm - height 38 mm width 34 mm - height 33 mm

 depth 43 mm  depth 43 mm
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (ASTORIA CMA)
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (CONTI) CLUB - TWIN STAR2  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 XEOS2  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (ESSIKA) SK2 - SSK2  XEOS2
 for Coffee machine (FAEMA) COMPACT - DUEA  for Coffee machine (ESSIKA) SK2 - SSK2
 EXPRESS - E61 - E91  for Coffee machine (FAEMA) COMPACT - DUEA
 for Coffee machine (FIORENZATO C.S.) MURANO  EXPRESS - E61 - E91
 for Coffee machine (PAVONI) BART  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (RANCILIO) EPOCA  for Coffee machine (PAVONI) BART
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 XLPALLAS  XLPALLAS
 for Coffee machine (SAN MARCO) EUROPA95 - NS85  for Coffee machine (VIBIEMME)

    

RANCILIO  RANCILIO

<|3120054 |> COIL SIR AI Z530A 9W  24V 50H z 14VA <| |>

width 31.5 mm - height 43 mm
 depth 42.5 mm  

    

RANCILIO  

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1120331 |> 2-W AY SO LEN OID VALVE LU CIFER 240V 50H z <|1120332 |> COIL LU CIF ER /PA RKER  220/240V 9W  50Hz

121FS1651A - max 10 bar width 32 mm - height 38 mm
 RUBY seal - orifice ø 3.5 mm  depth 43 mm
 with coil 483510S6 9W 220/240V 50/60Hz  for Coffee machine (BEZZERA) ELLISSE
 fluid temperature -40°C+140°C  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (CONTI) CLUB - TWIN STAR2
  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (FAEMA) COMPACT - DUEA
  EXPRESS - E61 - E91
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (PAVONI) BART
  for Coffee machine (RANCILIO) EPOCA
  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS
  for Coffee machine (SAN MARCO) EUROPA95 - NS85

    

RANCILIO  34040115  RANCILIO

<|1120460 |> 2-W AY SO LEN OID VALVE LU CIFER 240V 50H z <|1120332 |> COIL LU CIF ER /PA RKER  220/240V 9W  50Hz
7121ZBG1LV00 - fittings ø 1/8"FF - max 10 bar width 32 mm - height 38 mm

 VITON seal - orifice 2.5 mm  depth 43 mm
 with coil 483510 9W 220/240V 50/60Hz  for Coffee machine (BEZZERA) ELLISSE
 fluid temperature -40°C+140°C  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (RENEKA) VIVA  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (FAEMA) COMPACT - DUEA
  EXPRESS - E61 - E91
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (PAVONI) BART
  for Coffee machine (RANCILIO) EPOCA
  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS
  for Coffee machine (SAN MARCO) EUROPA95 - NS85

    

RANCILIO  10060500 RANCILIO  10060517 RANCILIO  34040002  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1120352 |> 2-W AY SO LEN OID VALVE PA RKER  230V 50/60Hz <|3120032 |> COIL PAR KER ZB09 9W  220/240V 50/60Hz

VE125CV2 - max 10 bar width 34 mm - height 33 mm
 VITON seal - orifice ø 2.5 mm  depth 43 mm
 with coil ZB09 9W 220/230V 50/60Hz  for Coffee machine (ASTORIA CMA)
 fluid temperature -40°C+140°C  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (RENEKA) LC - VIVAS  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
  for Coffee machine (CONTI) CLUB - TWIN STAR2
  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (FAEMA) COMPACT - DUEA
  EXPRESS - E61 - E91
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (PAVONI) BART
  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS
  for Coffee machine (VIBIEMME)

    

RANCILIO  RANCILIO

<|1120334 |> 3-W AY M ECH ANIC AL COM PONEN T LU CIF ER <|1120339 |> 3-W AY M ECH ANIC AL COM PONEN T PAR KER
E131F4304G - drain ø 1/8" conical - max 10 bar VE128IR - drain ø 1/8" conical - max 10 bar

 RUBY seal - orifice ø 1.5 mm  RUBY seal - orifice ø 1.3 mm
 fluid temperature -30°C+140°C  fluid temperature -30°C+140°C
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (CONTI) CLUB - TWIN STAR2  for Coffee machine (CONTI) CLUB - TWIN STAR2
 XEOS2  XEOS2
 for Coffee machine (ESSIKA) SK2 - SSK2  for Coffee machine (ESSIKA) SK2 - SSK2
 for Coffee machine (FAEMA) COMPACT - DUEA  for Coffee machine (FAEMA) COMPACT - DUEA
 EXPRESS - E61 - E91 - E92  EXPRESS - E61 - E91 - E92
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (PAVONI) BART  for Coffee machine (PAVONI) BART
 for Coffee machine (RANCILIO) EPOCA  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  XLPALLAS
 XLPALLAS  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 for Coffee machine (SAN MARCO) EUROPA95 - NS85  DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA

    

RANCILIO  34040024  RANCILIO

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1120330 |> 3-W AY SO LEN OID VALVE LU CIFER 240V 50H z <|1120332 |> COIL LU CIF ER /PA RKER  220/240V 9W  50Hz

E131F4304 - drain ø 1/8" conical - max 10 bar width 32 mm - height 38 mm
 RUBY seal - orifice ø 2.5 mm  depth 43 mm
 with coil 483510S6 9W 220/240V 50/60Hz  for Coffee machine (BEZZERA) ELLISSE
 fluid temperature -40°C+140°C  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (CONTI) CLUB - TWIN STAR2  XEOS2
 XEOS2  for Coffee machine (ESSIKA) SK2 - SSK2
 for Coffee machine (ESSIKA) DUEA - ELITE  for Coffee machine (FAEMA) COMPACT - DUEA
 EUROPA95 - EXPRESS - E61 - E91 - E92 - SK2  EXPRESS - E61 - E91
 SSK2  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (FAEMA) COMPACT  for Coffee machine (PAVONI) BART
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (RANCILIO) EPOCA
 for Coffee machine (PAVONI) BART  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 for Coffee machine (RANCILIO) EPOCA  XLPALLAS
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  for Coffee machine (SAN MARCO) EUROPA95 - NS85

    

RANCILIO  34040008  RANCILIO

<|1120334 |> 3-W AY M ECH ANIC AL COM PONEN T LU CIF ER <| |>

E131F4304G - drain ø 1/8" conical - max 10 bar
 RUBY seal - orifice ø 1.5 mm  
 fluid temperature -30°C+140°C  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (FAEMA) COMPACT - DUEA  
 EXPRESS - E61 - E91 - E92  
 for Coffee machine (FIORENZATO C.S.) MURANO  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (RANCILIO) EPOCA  
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  
 XLPALLAS  
 for Coffee machine (SAN MARCO) EUROPA95 - NS85  

    

RANCILIO  34040024  

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1120335 |> 3-W AY SO LEN OID VALVE PA RKER  230V 50/60Hz <|3120032 |> COIL PAR KER ZB09 9W  220/240V 50/60Hz

VE128IR - drain ø 1/8" conical - max 10 bar width 34 mm - height 33 mm
 RUBY seal - orifice ø 1.3 mm  depth 43 mm
 with coil ZB09 9W 220/230V 50/60Hz  for Coffee machine (ASTORIA CMA)
 fluid temperature -30°C+140°C  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (CONTI) CLUB - TWIN STAR2  XEOS2
 XEOS2  for Coffee machine (ESSIKA) SK2 - SSK2
 for Coffee machine (ESSIKA) SK2 - SSK2  for Coffee machine (FAEMA) COMPACT - DUEA
 for Coffee machine (FAEMA) COMPACT - DUEA  EXPRESS - E61 - E91
 EXPRESS - E61 - E91 - E92  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (PAVONI) BART
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 XLPALLAS  XLPALLAS
  for Coffee machine (VIBIEMME)

    

RANCILIO  RANCILIO

<|1120339 |> 3-W AY M ECH ANIC AL COM PONEN T PAR KER <| |>

VE128IR - drain ø 1/8" conical - max 10 bar
 RUBY seal - orifice ø 1.3 mm  
 fluid temperature -30°C+140°C  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (FAEMA) COMPACT - DUEA  
 EXPRESS - E61 - E91 - E92  
 for Coffee machine (FIORENZATO C.S.) MURANO  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  
 XLPALLAS  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA  

    

RANCILIO  

<|1120306 |> 3-W AY SO LEN OID VALVE SIR AI 230V 50H z <|1120008 |> COIL SIR AI Z A30A 9W  230V 50Hz
L334C18C - scarico ø 1/8" conico - max 13 bar width 30 mm - height 39 mm

 RUBY seal - orifice 1,6 mm  depth 41 mm
 coil ZA30A 9W 230V 50Hz 14VA  
 for Coffee machine (BEZZERA) ELLISSE TE  
 for Coffee machine (FAEMA) COMPACT - DUEA - ELITE  
 EXPRESS - E91 - E92  

    

RANCILIO  

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Sparking plugs
T2>

<|3001003 |> R OU ND SPAR KING  PLUG  ø 7x44 m m <| |>

male faston M4x1 mm
 total length 65 mm  

    

RANCILIO  69000022  

<T2

Spouts for coffee
T2>

<|1022523 |> AD JU STABLE SHOR T DOU BLE SPOU T ø 3/8" <|1160559 |> CHR OM E PL ATED SCR EW  FOR  SPOU T
for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS

 E61 - E64 - E66 - E91 - P4 - P6  

    

RANCILIO  RANCILIO  23123015

<|1022504 |> CLOSED SIN GL E SPOU T ø 3/8" <|1022502 |> DO UBL E SPOU T ø 3/8"
for Coffee machine (ASTORIA CMA) DIVINA

  for Coffee machine (AZKOYEN) AZ04 - VIENNA
  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO
  for Coffee machine (CIMBALI) M27 - M30
  for Coffee machine (CONTI)
  for Coffee machine (ESSIKA)
  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
  E61 - E64 - E66 - E91 - P4 - P6
  for Coffee machine (GAGGIA) D90 - E90
  for Coffee machine (NUOVA SIMONELLI) MACCUP
  for Coffee machine (PAVONI) BAR - BART - PUB
  for Coffee machine (RANCILIO) EPOCA
  for Coffee machine (SAN MARCO) EUROPA95 - NS85

    

RANCILIO  RANCILIO  10707001 RANCILIO  10707008

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1022501 |> SIN G LE SPO UT ø 3/8" <|1022503 |> STR AIG HT SIN G LE SPOU T ø 3/8"

for Coffee machine (ASTORIA CMA) DIVINA for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (AZKOYEN) AZ04 - VIENNA  for Coffee machine (BRASILIA) CENTURY - GRADISCA
 for Coffee machine (BEZZERA) ELLISSE  PORTOFINO
 for Coffee machine (BRASILIA) CENTURY - GRADISCA  for Coffee machine (CIMBALI) M27 - M30
 PORTOFINO  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (CIMBALI) M27 - M30  XEOS2
 for Coffee machine (CONTI)  for Coffee machine (ESSIKA) SK2 - SSK2
 since  1/11/03  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
 TWIN STAR2  E61 - E64 - E66 - E91 - P4 - P6
 for Coffee machine (FAEMA) COMPACT - DUE - DUEA  for Coffee machine (GAGGIA) D90 - E90
 EXPRESS - E61 - E64 - E66 - E91 - P4 - P6  for Coffee machine (NUOVA SIMONELLI) MACCUP
 for Coffee machine (GAGGIA) D90 - E90  for Coffee machine (RANCILIO) EPOCA
 for Coffee machine (NUOVA SIMONELLI) MACCUP  for Coffee machine (SAN MARCO) EUROPA95 - NS85
 for Coffee machine (PAVONI) BAR - BART - PUB  for Coffee machine (VFA EXPRES) ELITE - MAGESTIC
 for Coffee machine (RANCILIO) EPOCA  SPLENDOR

    

RANCILIO  21102511 RANCILIO  21102513  RANCILIO

<|5031337 |> 1-CU P STR AIG HT SHOR T SPOU T ø 3/8" <| |>

    

RANCILIO  

<T2

Springs
T2>

<|1250816 |> CAP  SPRIN G ø 12x22 m m <|1250808 |> CON TR OL LEVER SP RIN G ø 14x23/40 m m

    

RANCILIO  39110030  RANCILIO  39210005

<|1250818 |> DR AIN  R OD SPR ING  ø 7x35 m m <|1250101 |> F ILTER  B LOCK IN G  SPRIN G ø 1,00 m m  IN OX
for Coffee machine (VIBIEMME) CHIMAERA - CUBO

  DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

RANCILIO  39110071  RANCILIO  25105005

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1250806 |> LEVEL SP RING  ø 17.2x13 m m <|1250801 |> LEVER  G R OU P SPRIN G

external ø 44 mm - height 168 mm

    

RANCILIO  39110012  RANCILIO  39120013 RANCILIO  39120014

<|1250810 |> LEVER  R ETU R N SPR ING   ø 10x31/45 m m <|1250029 |> LEVER  SPR ING  ø 10x13/27 m m
for RANCILIO MD40-MD50-MD80

    

RANCILIO  39220010  RANCILIO  39220030

<|1523674 |> NO N-R ETU R N VALVE SPRIN G ø 6x28 m m <|1250812 |> SHOCK A BSOR BER SP RING  ø 13x64 m m

    

RANCILIO  39110065  RANCILIO  39220025

<|1250028 |> SPRIN G ø 10x26 m m <|1250030 |> SPRIN G ø 11x21 m m

    

RANCILIO  39110064  RANCILIO  39110040

<|1250151 |> SPRIN G ø 12x15 m m  F OR STEAM  PIPE <|1250026 |> SPRIN G ø 12x31 m m
for Coffee machine (VIBIEMME) KOMETA

    

RANCILIO  39110025  RANCILIO  39110035

<|1250040 |> SPRIN G ø 8x55 m m <|1184826 |> SPRIN G FOR  CONTROL VALVE

    

RANCILIO  39110060  RANCILIO  39110045

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1250820 |> STEAM  HAN DLE SPR IN G <|1250819 |> VALVE SPRIN G ø 16x30 m m

    

RANCILIO  32210001  RANCILIO  39110010

<|1250817 |> VALVE SPRIN G ø 17x39 m m <| |>

    

RANCILIO  39110072  

<T2

Steam taps and spares for coffee mach.
T2>

<|1348044 |> COM PLETE W ATER  TAP <|1348804 |> CUP  W AR M ER W ATER TAP
for Coffee machine (RANCILIO) EPOCA

    

RANCILIO  10705152 RANCILIO  10706027  RANCILIO  10060130

<|1528022 |> G ASKET FA STENING  N U T <|5042535 |> LEFT CA M  F OR  QU ICK STEAM  TAP

    

RANCILIO  23206005  RANCILIO  20112601

<|1348855 |> M LN  STEAM  TAP <|1528019 |> NU T W ITH  G ASK ET
connections ø 3/8"

    

RANCILIO  10060100  RANCILIO  10060001

<|5033627 |> QU ICK  LEFT STEAM  TAP W ITH  VENTING <|5033628 |> QU ICK  R IG H T STEA M  TAP W ITH  VEN TIN G

    

RANCILIO  10060101 RANCILIO  10060104  RANCILIO  10060102 RANCILIO  10060106

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|5042537 |> R IG H T CAM  FOR  QU ICK STEAM  TAP <|1250025 |> SPRIN G GU ID E

    

RANCILIO  20112603  RANCILIO  23123010

<|1250027 |> SPRIN G GU ID E <|1348824 |> SPRIN G GU ID E

    

RANCILIO  25132003  RANCILIO  23129007

<|1186670 |> STEAM  PIPE BU SH ING  ø 12x5 m m <|1348805 |> STEAM  TA P
for Coffee machine (VIBIEMME) KOMETA connections ø 3/8" - 3/8"

  for Coffee machine (RANCILIO) CLASSE10 - EPOCA

    

RANCILIO  23119005 RANCILIO  25119005  RANCILIO  10060110 RANCILIO  10060114

<|1348052 |> TAP  ADJU STING  BUSH IN G <|1348045 |> TAP  BU SH ING

    

RANCILIO  26220015  RANCILIO  23220029

<T2

Steam-water pipes coffee machines
T2>

<|1449811 |> COM PLETE STEAM  PIPE <|1449052 |> COM PLETE W ATER  PIPE
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6 for Coffee machine (RANCILIO) S20

 CLASSE8 - EPOCA - MIDI - TECNA - Z11  

    

RANCILIO  10706003  RANCILIO  10706009

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1449053 |> COM PLETE W ATER  PIPE <|1449802 |> COM PLETE W ATER  PIPE

for Coffee machine (RANCILIO) CLASSE10 - CLASSE8 for Coffee machine (RANCILIO) Z11

    

RANCILIO  10049014  RANCILIO  10049025

<|1449864 |> COM PLETE W ATER  PIPE <|1449141 |> STAINLESS STEEL STEA M  PIPE CO M PL. ø 6  m m
for Coffee machine (PROMAC) COMPACT - GREEN pipe developmen 180 mm

 for Coffee machine (RANCILIO) MILLENIUM  for Coffee machine (RANCILIO) SILVIA

    

RANCILIO  10049017 RANCILIO  10706026  RANCILIO  10049046

<|1449865 |> STAINLESS STEEL STEA M  PIPE CO M PLETE <|1449051 |> STEAM  PIPE COM PLETE
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6 for Coffee machine (PROMAC) CLUB

 CLASSE8 - MILLENIUM  for Coffee machine (RANCILIO) S20 - S24 - S26
  S27

    

RANCILIO  10706024  RANCILIO  10706008 RANCILIO  10706017

<|1449863 |> STEAM  PIPE COM PLETE <| |>

for Coffee machine (RANCILIO) MILLENIUM

    

RANCILIO  10049016 RANCILIO  10706024  

<T2

Switches
T2>

<|1319858 |> BIPOL AR PU SH  BU TTON  16A 250V <|1319859 |> BIPOL AR SW ITCH 16A  250V
mounting hole 13x20 mm mounting hole 13x20 mm

    

RANCILIO  10705354  RANCILIO  10705355

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|1319860 |> BIPOL AR SW ITCH 16A  250V <|1319215 |> BL ACK BIPOL AR  SW ITCH  16A 250V

mounting hole 13x20 mm with orange led indicator light
  "flash" screen printing
  mounting hole 22x30 mm
  for Coffee machine (SPINEL) DUETTO - DUETTOLUX
  ESSE - ESSELUX - MINIMINI - MINIMINILUX
  RONDOLUX - RONDOMATIC - TOUR - XP12

    

RANCILIO  10705356  RANCILIO  34030064

<|1319806 |> BL ACK BIPOL AR  SW ITCH  16A 250V <|1319809 |> BL ACK BIPOL AR  SW ITCH  16A 250V
with orange led indicator light with red led indicator light

 "hot water" silk-screen printing  "coffee cup" silk-screen printing
 mounting hole 22x30 mm  mounting hole 22x30 mm
 for Coffee machine (GRIMAC) MIA - NEWCIALDAVAPOR  for Coffee machine (GRIMAC) G10 - MIA
  NEWCIALDAVAPOR - TWENTY - VAPORDOUBLE - ZOLAI

    

RANCILIO  34030029  RANCILIO  34030047

<|1319862 |> BL ACK BIPOL AR  SW ITCH  16A 250V <|1319865 |> BL ACK BIPOL AR  SW ITCH  16A 250V
with orange led indicator lamp with red led indicator lamp

 silk-screen printing "lightning"  mounting hole 22x30 mm
 mounting hole 22x30 mm  for Coffee machine (MARZOCCO) FB/70 - LINEA
  for Coffee machine (RANCILIO) EPOCA

    

RANCILIO  34030037  RANCILIO  34030970

<|1319805 |> BLU E BIPOL AR  SW ITCH 16A 250V <|1319861 |> F IX ED  BU TTON
with indicator lamp

 silk-screen printing "cup warmer"  
 mounting hole 22x30 mm  

    

RANCILIO  34030039 RANCILIO  34030073  RANCILIO  38123553

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|3319030 |> G REEN CH ANG E OVER SW ITCH 16A 250V <|1319115 |> PU SH-BU TTO N PANEL 1 BU TTON

with indicator lamp
 max temperature 120°C  
 mounting hole 22x30 mm  

    

RANCILIO  34030045  RANCILIO  10111035 RANCILIO  10111036

<|1319105 |> PU SH-BU TTO N PANEL 3 BU TTONS <|1319113 |> PU SH-BU TTO N PANEL 5 BU TTONS

    

RANCILIO  10111044 RANCILIO  10705364  RANCILIO  10705348 RANCILIO  10705361

<|1319114 |> PU SH-BU TTO N PANEL 5 BU TTONS <|1319803 |> PU SH-BU TTO N PANEL 5 BU TTONS

    

RANCILIO  10705363 RANCILIO  10705365  RANCILIO  10705226

<|1319857 |> PU SH-BU TTO N PANEL 5 BU TTONS <|1319863 |> PU SH-BU TTO N PANEL 5 BU TTONS

    

RANCILIO  10705230  RANCILIO  10705235

<|5044894 |> PU SH-BU TTO N PANEL 5 BU TTONS <|1319815 |> PU SH-BU TTO N W HITE
for Coffee machine (RANCILIO) EPOCA DE "hot water"silk-screen printing

  mounting hole 22x30 mm

    

RANCILIO  10111031  RANCILIO  10111020 RANCILIO  34030036

<T1

RANCILIO
T1>



Suitable for: Suitable for:
<|3319501 |> SW ITCH  PR OTECTION CAP <| |>

external dimensions 29x36 mm
 for switches with mounting hole 22x30 mm  

    

RANCILIO  34030131  

<T2

Tampers for coffee
T2>

<|1385002 |> NYLON  CO FF EE TAM PER  ø 50/57 m m <| |>

    

RANCILIO  38120005  

<T2

Terminal blocks
T2>

<|3247016 |> 3-POLE TER M INA L BLOCK F V273 40A 450V <|3247037 |> 4-POLE TER M INA L BLOCK F V173 40A 600V
for cable max 6 mm2 for cable max 6 mm2

 operating temperature 150°C  operating temperature 150°C
 nominal voltage 450 V  nominal voltage 450 V

    

RANCILIO  34150023  RANCILIO  65220010

<|3247011 |> 6-POLE TER M INA L BLOCK F V122 40A 600V <|3247009 |> 6-POLE TER M INA L BLOCK F V122/B 40A 600V
for cable max 6 mm2 for cable max 6 mm2

 operating temperature 150°C  operating temperature 150°C
 nominal voltage 450 V  nominal voltage 450 V

    

RANCILIO  65220011  RANCILIO  34150024

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Terminals
T2>

<|1455033 |> CON NECTOR FEM ALE SM ALL <|3120034 |> F EM A LE LAR G E CONN EC TOR
for volumetric flowmeter for coils

 for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC - OFFICE  
 for Coffee machine (FAEMA) COMPACT - DUEA - ELITE  
 EXPRESS - E92  

    

RANCILIO  RANCILIO

<T2

Thermostats
T2>

<|1444005 |> BIPOL AR THER M OSTAT 165° <|1444509 |> THR EE-PH ASE THERM OSTAT 169°C
capillary length 470 mm - 16A 400V with manual reset

  covered capillary 900 mm
  bulb ø 4x128 mm
  for Coffee machine (ASTORIA CMA) PLUS4YOU
  for Coffee machine (CIMBALI) M20 - M21 - M27 - M28
  M29 - M30 - M31 - M32 - M39 - M39GT
  for Coffee machine (WEGA) CONCEPT

    

RANCILIO  34200093  RANCILIO  34200095

<|1444004 |> THR EE-PH ASE THERM OSTAT 187°C <|3444230 |> TW O-POLE THER M OSTAT 165°C
manual reset capillary 500 mm - 25A 277V

 covered capillary 830 mm  for Coffee machine (RANCILIO) EPOCA - S24 - S26
 bulb ø 4x124 mm  S27

    

RANCILIO  34200096  RANCILIO  34200092

<T1

RANCILIO
T1>



Suitable for: Suitable for:

<T2

Vibrating pumps
T2>

<|1122737 |> VIBR ATOR Y PU M P EP5 48W  230V 50H z <| |>

fittings ø 1/8"- ø 6 mm
 pressure max 15 bar  
 water temperature max 20°C  
 integrated diode (1N 4007P)  
 lead connector 6.3x0.8 mm  
 for Coffee machine (DELONGHI) ECOV310AZ - EC155  
 EC300M - ESAM5400 - ESAM5400EX  
 for Coffee machine (SPINEL) DUELUX - MINIMINILUX  
 PINOCCHIO - TOUR - UNOLUX  

    

RANCILIO  34011026  

<T2

Water containers for OCS HORECA
T2>

<|5023308 |> W ATER CONTAINER <| |>

dimensions 205x200x93 mm
 for Coffee machine (RANCILIO) EPOCA - SILVIA  

    

RANCILIO  38123012  

<T2

Water filling taps
T2>

<|1348810 |> INLET TAP BO DY <|1348811 |> SPACER  INLET TAP
for water inlet tap for water inlet tap

    

RANCILIO  20121012  RANCILIO  23208015

<|1348808 |> TAP  LEVER  BOD Y <|1348807 |> W ATER INLET TA P
for water inlet tap

    

RANCILIO  32550278  RANCILIO  10060260 RANCILIO  10060290

<T1

RANCILIO
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

